MHS serie

216, 320, 825, 832, B340, 50, J63, G980, 100, 125

=

HY2

=

HW2

291R|

433



2 AEZI(MHSLI)E 2715101, 85 Cf Al2)=0| £

42!

N

=X Tap AHE 2 LHE THAIR

H@M
MHSHG- -

FRESS 01 0l

A2HE (mm)

16) 20 (25 32 40 GO 63 (8O 400 425

B NS

MHS34 2 =

258 Worke
bk obx|

B oo

EAEZF
MHSL3 42 =
CHRFSH Work
XS0l thS

MHS4 . 2 =

2+ Work9)
?xZEH

B~

434



XE0| CtE Worke mX|0]| CHS 7tset & AEZF EIY
=~e23 MHSL3

i
Al 0( ¢ =0 | mz
mm mm g
16 B 435 80
20 6( 8 26 135
25 N 8 29 180
32 58 370
40 : 64 550
50 5 775 930
63 210(20 89 | 1,550
80 = 116 | 2,850
100 A0\ 27 135 | 5,500
125 64 175 | 11,300

( )8 EZ/MHS39] AEZ3 ‘

MHS3 = WO

AIa“:“_de(mm) MHZJZ

E‘IE?‘IH‘I '=I"’-—<I./MHSJ3 16 2|0 25 32 40 50 63 80

VTN CAs7ise| 25 i =
Zi=—e]

V[ gfsiglet s MIE| pusher FEH(AEILA])
MIE{ pusher HEH(AZZIAL)
HAE 78 3 #HETY

VsSR! CAE FH{/ME| pusherFEH(ARIL{AL)
CAE {H{/HE pusherF2H(AZEA])

#s 713H/MHSH3

A EHH/ME] pusher £t

AT
= 5 =
1 METH MHSH 30| C{AEF{H ME| pusher

<o plm
S 1 pssyol DEEI} IS

'«m m 2 I
\ ) | i : : L
t\ W - MIE{ pusher Ass’y M
2 T o L)

q b HAEFH J‘itf;_‘? e MRHQ

w | e r—e | B

1IN 1 — . =
HA ‘mp—

SMC 435

O



MHS series

|_7EA S i=1d=k
o - o o™

AL
=1 Rl gl <412 EINEREE]
A1 1 BTN R
GETETD e L emx|2o| A4t (WA O ZOIM JIEME )
. - — - MHS2-32De|zmtx| 2
ol | 913 =2k 0.4kg — WorkZE2H0]| CHE 7|SMEC| 7|E _ 50T ey
« 22E 3} worke| OREHA|S=Of et ChEL Chat ]
ofzfEet Zo| MRS A2 £ U= JES 120 e
- - MY stAl2. o P = 0.4MPa
| RIS SHMR| |z 1uorimas] i8S VBN MUEE ~ %
T SHAUAIL. = I 0.3MPa
= — B 60 0.2MPa
71Z | Work Z2toj| CHst mX|2o| HiE T
= 0.1MPa T}
‘ {42 H MHS2 10~ 20640 At 0 ra
MHS3 0 10 20 30 40 50
MHSJ3 7~ 13H{ 0| At TRE Lmm
MHSH3
MLEES *+ MHS2-32DE Mt A2 Z2,
MHS4 5~10tHO[ A XA HZ| L=20mme}t
otz 0.4MPaS| mMAO|M

- EE= workBEEA|O| 2 THEEL S2{0] &Z X2 goNg H=C)
g Z2=, O o{fE & 227t ASHCH

O :ZpX|24 S workZ2ke| 208 0|42 |

MHSID A2 E2, 23b{0[0{, mX|2d MAX|Q|

T QX[ 24 = 0.4Kg X 20 X 9.8™s = 78.4NO| A} 208} O|AtS oi=SiC).

U}X|242 workZl 20| CHaH

| DXIE : 20mm

o
:

436



JIzMEeH MHS2 series

A PSES R
| Az T2l 20| workS IX|E mf
Lo AR :
COF - IEX|EE(N) 1
g0 REED workAtol2| OpED|S }
m o workE 2k (kg)
g BEIISE(=9.8%) |
] L ' mg : work =2F(N) !
L] i 3 ozt S m, 3
i work7} HHotstR| 48 =2, |
' nxg Fymgol| 2|5 3
1 mg !
- s 1
F F | oIXMES aZ 3lm, FE2 HX™IH |
| axmg |
LOF 1
uXFT @ T“XF | nxe |
mxg | |
MHzZO
3 } MHzJ2
MHQ
WOrk g%ﬁ(}” EH5I_|' _l_J_l-XlE-E"_Ql HH%O'” EH5|'0:| MHL2
_\.L|7-If'\_:n=29_| 7&—?— —
- SHAME E4t BIEE0Z M= SZHo| s, oipee MHR
a=4% {MEotD UELCH —
p =020y p =010y MHK
mg mg
F= x4 F= x4
2x0.2 2%0.1
=10xmg =20xmg
MHC2
‘ workZ2£2| 10tH ‘ ‘ workZ 2F2| 20HH ‘ MHT2
(F) « OtEAHIFIt ¢ =0.22L0} =2 BRE, S I8, A HES=
work Z2kl 10~20H O|AtZ MAESIAA|2. MHY2
- 2 JISEJF £40 M= o{fES ds IA & 22t AdsHcCh —
MHW2
MRHQ
PE
22|

sMC 437

N



0"01"* MHSZ Series

T

4z 43

N7y MHS 2 —

20

SAIEA

D_

FON

.

@16, 820, 325, 032, 340, B50, J63

Zial A REAQR| FI17|&
aA = 2= 27§ A
L2 | 2% | s eSS,
REALRX|
275 2EAQA Sig (RHAUE) [
AZIE He LEAQX] AL
~ QEASIR| ZH [« =MZ0[(m) [ 2n _
;8 ;gmm z2 |EAJs = EN EAE H_HAn_'l ForA e ZCH FHE U5 | 0.5 ES 5 LH%E S Zz|2tojof
mm % |SS| Hz S| (za) SEETE B ey 2lEM | 59 [U|E{ 2 A
25 25mm DC_[Ac |[BESEYE|(F213)| (L) (D) (-61)
3
(NPN) 5y FONV| FON ® /0O O o 0]
RHEHIAl ¢ |EE| (Sﬁp) 1 leopviFror | @ |@|0| o |¥F B
[ R RN PR LA B a
- FOBV|F9B | ® | @|O| O 0
= 2M 12V —
SME — F9BA| — el O 0] 0
(2AHA|)
% 2|=M 20/7|5 : 0.5m..---27|5 (o) F9B F2) H2F 2lEMo B2, BH LT -615 7SN 2.
e L R (of) OllO1= T} SA0 FE2E 1y
% OEAS QEAQIX|E &% AMAZEQ|L|C} MHS2-16D—FINVS—[61]
1) 24 EA EfS SAf0) oIS, W22 o=
ALZ5td HARE — p.494 LEARX| X f% EXSIN AL QEAQZ O =28 [
F2) LEARIRC RMIEH AFRE2 p.5718 B ERSHIAIL.

a2t g

peradiie] MHS 2 —

50

D

Y59A

D—F9PL—
H=zx 2=

JEE&—?—IJ’(I F=

B~ 2% o2&
s 14 S
L 2 | 2=z l
EAQX|
[-‘?-7|§[ LEAQX AU (AAMLHE) ]
Al2ic| LYZ e LEAQIX|ALG
< ZCHETEW VEE]
32 | 32mm e wa | PotEey | 2ESHAEH |yachzo)m) |HER =
25 T iomm 3% 84715 [Azunz|Eas| HE BEmEEgE | (2o Mewer [ZUHY
%0 S0mm =3 DC AC [Zorsr | Zarer 05(7712)(3(L)[5(2) (-61) ZYEFH
SHINPN] Y69A | Y50A| ® | @ |O ; 0
63 63mm
. wew | 2% [yzev[Y7P | @ [e@ O sz o
x5 24 12v Y698 |Y5B| ® | @ O - ©)
HE a0
ot | uoEA oo (20PN _ [YINWVY7NW] @ [ @ O 2
spmupay & (Al | [TEIE S [ i |2VEV I [yzpwy vzew] @ @ TO cHE o o
e T °
=58 Ve oM 12v -
S — |YBA| — |®|O @)
= (PAED)
EANZ|E =
________ % 2|EM Z0|7|Z 0 0.5m-----F7|& (0f]) Y59B
[ ) 3mer L (0f) Y59BL
| | BMeeeeeee Z (oll) Y59BZ
! % OB QEALRE 45 MAuELCH
| | Z1) 28 BA EFUS SR0| FOBHANS.
| NESHA HLE - p494 QEAK| SAE HESAL
| —| 52) QEALAXI] KB AISE p.5712 EHESHIAIS.
I. _________ | Order S 2EAQIX| Z2[2t0|0 FUE FEO| MM S A2
Best Pneumatics No.[2) p.2242& é‘géfﬁ/\lg-




2% ool MHSZ2 series

HAI/ALY
=4 MHS2-16D | MHS2-20D | MHS2-25D | MHS2-32D | MHS2-40D | MHS2-50D | MHS2-63D
AHEE LHE mm 16 20 25 32 40 50 63
AE S| 37|
AFZ 3 MPa 0.2~0.6 \ 0.1~0.6
T2 YAERMR2E C -10~60C
HIE2X T mm +0.01
23 ABHIE cpm. 120 \ 60
a0 = e N )
=TT T HETT
= e =558
FAM bR N |2 A LA 21 37 63 111 177 280 502
0.5MPal LHZ mtx 23 42 71 123 195 306 537
e AEZ3 (ZF)mm 4 4 6 8 8 12 16
ek g 58 96 134 265 345 515 952
) @16~@252 THAE L=20mm, @32~@632 XA L=30mmoflA 2| ZtQIL|Ct.
Zt mX| @I X[oM 2] mX|H 2 [AFIXZF]O0|H p.440, 4415 EHZRSHHA L.
AEE
31 AE A2 AtE
' 6? C/D /®
: MHZOO
| r\_ i | r_ﬁ:? —
MHZJ2
| —
MHQ
l | \
{ YAV, l\ | 5 | l MHL2
\ \l\ | /I/ —
MHR
' L ! L L
MHK
@ ® & o ® —
FHRE
HS 2E9 M H| 10 Hs FEY WS H| 1 MHC2
1 =A| U205 &= 2 LF010|E XME| 10 oAz IfZ NBR I
2 oAE U205 &= 2 2F0i0|E 2| 11 2c 1jz NBR MHT2
3 24 EtAZY T2 - S4% 2 12 ThAH NBR L
4 A EtaZt A2 - SaHe 13 TEAZA NBR MHY2
5 A U205 &= ZZ& LF0I0[E XME| L
6 HE ZgolE AH|OI A Z
[ meee= EEPY MHW2
8 M 014 E SNk MRHQ
9 | cuauy Eag e ——
e PE
nEEE 22|
223 MHS2—-16D MHS2-20D MHS2-25D MHS2-32D MHS2—-40D MHS2-50D MHS2-63D FREE
HZAME MHS16—PS MHS20—PS MHS25—-PS MHS32—-PS MHS40—-PS MHS50—-PS MHS63—PS 10 @) @ @)
A P3316004 P3346104 P3316204 P3316304 P3316404 P3316504 P3316604 ®
[ P3316023 P3316123 P3316223 P3316323 P3316423 P3316523 P3316623 ®
I AE Ass'y MHS—-A1601 MHS—-A2001 MHS—-A2501 MHS—-A3201 MHS—-A4001 MHS—-5001 MHS—-A6301 @0®
¥EAHE Y 27 FEsHA 2.
Y
ZS\NC 439



MHS2 series

NS
uipSEs| JupSks!
o2 32 IX|H2 IXHAHEJt Asox|e Jef=of 2t H=Z
HEA T & DX 2 MELHOIM AFESH0 FAA 2.
02 39| mX|HO| MEof| LIEtLHE ZO[2E} 71 oA ALSEH
AA HSF0 It X = HetE0| Ui A +Ho| AdPES
TR = folo| EL . -
| :
LI, L
L L
Q|2 mHR| &HEH LHZA ThX| AER
L: oX| ™ AE|
AI —
Al S LA
eUBRTXZ EALY A otX| = L Aot x| =
QEZXZ Jef=oM AEmXH2, ot O
LIEHH AP 2719 A 4 FaHE0| M2
Y30 Faota U= HeolM2] B 1742) MHS2-16D MHS2-16D —
ZISEﬁ:‘, FE Ll'E—l‘LJ I—l El’. \%}E#Q[_GMP %0 \ QJEE‘ 0.6MPa
w \
~~__ 0.5MPa —
0.5MPa
20 \¥\4
= ~—]__ 0.4MPa Z 20
— mr ~~—_0.4MPa
R — 0.3MPa E] —
] I — 0.3MPa
o \T\ . ———0.3MP:
0.2MPa
- S —_— 0.2MPa
db
0 5 10 15 20 25 30 0 5 10 15 20 25 30
F IR A Lmm X & Lmm
MHS2-20D MHS2-20D
60 f f [ [
~ ‘ ‘ %0 \?:-;E—‘. 0.6MPa
2 0.6MPa T
[
_ 40 - 0.5MPa Z 40 \0'5"’”;3
ar
E — 0 4‘MPQ il \\O4MPa
[ : El
= ] 0.3MPa \\QMPa
20 20 —=———
\'\\(‘)_Q\MPa ——10.2MPa
0 10 20 30 40 0 10 20 30 40
X[ ™ Lmm XA Lmm
MHS2-25D MHS2-25D
100 ‘ ‘
~ 100 T T
[el="1
80 22! 0.6MPe—H 2= O
\\ 80 T
= 0.5MPa
60 = S N ~"
= 7 AMP
I_I;_ \ 0.4MPa I_}:T w\a
—
40 0.3MPa 40 — 0.3MPa—|
— | 0.2MPa —t——1 | 0.2MPa
20 20
0 10 20 30 40 0 10 20 30 40
XA Lmm X Lmm
440



2% ool MHSZ2 series

AlSTI
Skt NE=
OUE TN EAYY o ZItX|H L Z X =
QEZ Jf=oM AsutX|E 2, otz 2o
LIEHH ZiMEH 2742l EH U 2&F0| MEF
Q30| M5t AU MEHOA S TH 1742 MHS2-32D MHS2-32D
=2 - I T T T
£ F2 LIERHLICE 150 T O.B‘MPa 150 T~ _ o= O.GI\‘IIPA
\
120 0.5MP
\\OSM‘Pa 120 T~ ‘ a
Z 90 — 0.4MPa = ——T——1_0.4MPa
Ll T 90 —
K — 0.3MPa K —— | 03MPa
H 60 T = 50 T
0.2MPa — Y
- 30 0.1MPa 30 0.1MPa—T
i | |
F 0 10 20 30 40 50 0 10 20 30 40 50
XA Lmm X ™ Lmm
MHS2-40D MHS2-40D
250 f \ \
— e 250 9t21 0.6MPa
ot21 0.6MPa 20
200 S % — |
——_ 0smPa 200 0'\5“"7’2
— il = —~—|
Z150 0.4MP3 ar ———_ 0.4MPa
T —A 150 —
=3 K
H100 E— 0.3MPa = T 0.3MPa
100
[ 0.2MPa — 0.2MPa
50 — T [ o0.1Mpa 50 == 0.1MPa
0 10 20 30 40 50 0 10 20 30 40 50 MHzZO
X[ ™ Lmm IR Lmm —
MHS2-50D MHS2-50D MHQ
400 200 — L
I~ ot 0.6MPa TS
™~ 2=t 0.6mPa L T~ MHL2
300 ~ | — e
~—— ! 300 0.5MPa —
~_0.5MPa _ [
= — r ——1_0.4MPa MHR
fir 200 10 4MPa = —
K T =200 0.3MPa T
E ——— | o03mPs a s e MHK
0.2MPa —
100 0.2MPa__ || 100 —
0.1MPa UAIME
0 20 40 60 0 20 40 60
IHXIE Lmm X & Lmm MHC2
MHS2-63D MHS2-63D MHT2
. o
otzd O.GMPE* R —
— ot 0.6MPa_ | | —— &=
600 | 600 \gzMé MHY2
— 0.5MPa — . a —
_ 2 T a1 ] w2
E‘loo 0.4MPa =400 ——
K ) 0.3MPa
= =0.3vPe—] | T MRHQ
0.2MPa —_—
200 0.“2MPg 200 — : oE
0.1MPa 0.1MPa 29|
0 20 40 60 0 20 40 60
oHXE Lmm X & Lmm

%S"C 441



MHS2 series

9IE X 45

MHS2-16D~25D

2-@3.4CBXE 6.5

CB 20| SC (#%87Y) AA
RA 3 AB
=il | o
2| olloll —{olie 2= tp—-— 8
R e
olla
(22 Al DO)
(E+3l Al DC)
4-M3x0.5, L}AFZI0| TB CB , .7
FEE FFELA
T Gl
EES T - — T
il | jol
3| AU
- |
2 | G (A
N
QEASIX LS Eo| 2XI(2R)
MHS2-16D MHS2-20D

08|

g
it

Fl

ne

@DWA 20l 1.5

GVA z10| VB

N7
i

B

XA Z10|XB

Fz

FY

|

2-M4Xx0.7 LIAFZIO] 8
(FFELIAD

o
Hl
Im

MHS2-25D

(mm)
715 A | AB | B |cB|Dc|DO|EC|EO|FX|FY|Fz] G | 1 |y | K][NA NB 0 P Q
MHS2-16D 35 |32 [ 30| 11 [ 30 [ 3410 |14 |125[11 | 3 [ 25| 4 [10 ] 4 | 8 [5h9 850l 2 |[M3x05] 6
MHS2-20D 38 | 35 | 36 | 13|36 | 40 | 12 [ 16 [145[13 | 3 |27 | 5 |12 | 5 | 10 [ 6h9 %30l 2.5 | M5%x0.8 | 7
MHS2-25D 40 | 37 | 42 ] 15| 42 [ 48 | 14 [ 20 |17 [145] 5 | 28 | 5 | 14| 6 | 12 [ 6h9 %0l 3 | M5x0.8 | 8
P RA[RB[sc]TB VA VB WA XA XB
MHS2-16D 18 | 16 | 8 | 5 |2H9 995 2 [17HY *§04 oHg *90%5] 2
MHS2-20D 24 | 18 | 95| 6 [2H9 79| 2 |21H9*§%%? oHo T9:9%5] 2
MHS2-25D 26 | 22 [10 | 6 [3H9 70| 3 |26H9*0%? 3Ho T99% 3
P
442 % SNC



MHS2-32D - 40D

2—@SA CB X| & SB

2% ool MHSZ2 series

CB Zo| 9(xF&7Y) AA N
RA 3‘ AB .
% @VA Zo| VB
/
/
1 1
—. )
m Tl ey < [ _
s TR Z C 8 @
| VN
o
ﬁ 2 <> v ~H
® 2
45 119 2—UA LIAFZI0| UB
o (F = BLIA)
(E&A DC
GWA 20| 2
4-M4x0.7 LIAIZI 0| 8
S FF LA LB, L CA
M5% 0.8
(G gd =E)
&
W w
<< -
| ol
Pl ou
[ Y L
4
—
‘ L
M5x0.8
. Jll, G (@7 28 25
2 e
(mm)
e AA [ AB | B |ca|cB | Dc | Do |EC [EO| Fx|FY |[FZz | G | 1 | J L NA | Q@ [RA [ RB [sA
MHS2-32D 44 | 41 [ 56 | 8 |16 | 56 | 64 |16 | 24 |23 [20.5] 5 [30.5] 6 | 20 [2H9*§0% 14 | 11 | 38 [ 25 |45
MHS2-40D 47 | 44 | 62 | 9 |17 | 62 | 70 | 20 | 28 |26.5|23.5] 6 |32 | 7 | 21 [3H9*9-%] 16 | 12 | 44 | 28 |55
5 sB UA_ [uB ] va [vB ]| wa XA XB
MHS2-32D 8 | m5x0.8] 10 [3H97§0%] 3 [34H9*09% 3H9*0 0% 3
MHS2-40D 95| M6x1 [ 12 [4H9*§-9 4 [42H9 T 4H9*I % 4
443

O
:

MHR

MHC2
T2
Y2
W2
WRHQ

E

291R|




MHS2 series

2|

o2
S

| ==

MHS2-50D - 63D

4-@51 CB XI& 9.5

CB Zol SC (3%87Y) AA _
~ RA AC AB
@VA Zlo| VB
Qﬁf y —
\ /
b 1 D
Nz
7] OV , i
as] B (T [N < [ _ @ m
2 foHeH——H4He 2l T B ] «
Y Qr“@ ] oy 0 a3)
% 1, = 5
o
— <= L P
>
o 1.8, 4—M6x 1 LIAFZIO0| 12
(FIFELIA)
(¥2Al DO) FZ FY FX ]
(B8N DO) LB, L CA DWA 20l WB
4-M5x0.8 LEAFZI0] 10 M5x0.8
CEEEEETIN (BHA g8 =E)
] @
o0
W
<z r
il [ijod
B (U
[ 2 L
- ]:’,§
Y
M5x0.8
y . G (@7 28 285
NI
MHS2 A|2|= HE E3|0|E F2E MM XE
—A LEAZIO
% 3—A LIAtZI0|B
(mm)
P A B|lcl[en]|E
MHS2-16D 55|11 | 21 |05
MHS2-20D 13 | 24
MHS2-25D M2x0.4 154 15,7106
MHS2-32D 52|18 | 32 |0.8
MHS2-40D 21 | 38
MHS2-50D M3x05 | 8 | 24 | 42 | 1
MHS2-63D 32 | 54
(E)
l\E)
F-F
(mm)
5 A aB [ Aac| B [calce |Dc|Do|EC|EO | Fx|FY|Fz]l | | | J |K L M | NA NB
MHS2-50D 55 | 52 | 3 [ 70| 9 [20 |70 | 82| 22 | 34 [ 31|28 | 6 |37.5| 9 |24 |10 |4H9*%% 2 | 18 [10n9 % 036
MHS2-63D 66 | 62 | 4 | 86 |12 |22 | 86 | 102| 30 | 46 | 38 |34.5] 7 |44 | 11 | 28 | 11 [6H9'§OO] 3 | 24 [12n9 O 43
5 ol a |RA|RB]|sC VA VB WA [ wB XA xB | YC
MHS2-50D 5 |14 [ 52 | 34 [ 12 [4H9TY0| 4 [52H9700| 2 [4H9'§O0| 4 | 7
MHS2-63D 55|17 | 66 | 38 | 14 [5H9* 00| 5 [65H9)4 2.5 [5H9 Y00 5 | 7.5
P
444 ZS\VC



3x
of| 01 %

el B e

M H53 Series

@16, 820, B25, 832, 340, @30, 263, 080, 100, F125

BTN

20

T Hs SEARR FIP|S
A AT =515 I,
L 38 [ 3= | s ]
LEALQR]
E[2E~2R gig (ANUE) l
AMElH WA e SEAYX] APt
_ SRR =8 |+ A= HZ0(m) [Py m -
16 16mm = A HiAM | St SR S6 | x2l=id == .| =290]0
20 | 20mm & |STIS E,LF—H BAIS (,-5;4) O e 2 uw 05 |3 |5 z=a | He% :Jlauj_i
25 25mm W= =i DC Ac | Bubsk Elatst (F719)|(L) [(2) (-61) ST
3
t FONV| FON
e | gy ® o0 O | o
KEEHEA| 3 12v &z
AEUAL ¢ g (NP) FOPVIFSP | @ (@0 © gz ©
28 J=olE | A 20 [ — LC
A90F| FOBV|FB | ® | @ | O| O O
ShE = w FOBA -
%tgz — —
i) °l°l ©° © JmHzO
% 2|EM 200/7|5 :  0.5m---27|5 (0l]) FIB F2) W== 2l=EMol 22, EH Lol 618 7|HAI ———
oy el e (o) ool SAlol F2E o MHZJ2
% OEAle] QEAgIAE +5 MMZelL|r} e e | —
F1) 24 EA| Bl SRt FolSHAlL. W2 2=y MHQ
AIRBIA H2E — paos SEASIR SHE HZSAIL. SEAYA F2E 1 S
F2) RLEALRIR[S| AIMSH AFLE p.5718 EESHIAIL. D-F9PL-[61]
yer Y2 Pz iz MHL2
ky2UapPE) MHS 3 —50) D —Y59A MHR
REARX FIVIE
= HE FIS 27 2E
= s o 25
L s | sz | l N o A
LLEARX
Al Wz [FIE[2E290 glg (AAHE) | MHC2
32 32mm = =X of REAR FH 2| EMZO0|(m) |HE= = MHT2
40 Jomm 2% |s47is [cuns|aas| MY | TORY Semmsws] " olny| mgmst 2NN ——
50 | s0mm EH) o i [=we [ wme 52 A0)50) o) SHETH IMHY2
gg 23”“”“ S0P) | [ | [M69A [Y50A| @ [e[O . o |——
mm - 34(PNP) * Y7PV [Y7P | @ (@ |O O | IMHW2
A i 2t 12/ | |v69B |Y59B [ ® [@ [O — o
R L] p— SH(PN) YINWV[ YZNW| ® | ® [O | 5| ._|2do[ O |[———
o e ol= _— e
P Al ¢ ooy (2D | TEAS IS [ ey |24V 22| [yzpwl y7pw| @ | @ [0 ©#=lec [0 ||MRHQ
—TI T —
——— Y7BWV| Y7BW| ® | ® O ©) CE
TES 20 12v - &
SEE — |yBA | — |®]|O o ||Aa9x|
EA7|= x 2= Zopls o)
=M 4 =3 0.5m----F7|% (0f) Y598 o ojx| @™ = Hx 5 sto
________ el| 2mE o=asix Z2|oj0j0 RUE S0 AME AEES
,_ T 3meseee L (o) Ys9BL S;sl Pneumatics No.@2] p.2242& Q_’F_S_}';,\:MIS’_
| 5meeees z (ofl) Ys9BZ
| L« OmAS 2E2fixE 25 MUELC
' | R0 24 EA Egle SAol Flsiae.
| AR HPE — pa9d QEAIIZ| SAE HESHIAIL
| _| | 7o) 2E2sixlel RpME Al psTIg BEAIL.

445



MHS3 series

S{A o
S{AL/AFQE
Al MHS3-16D | MHS3-20D | MHS3-25D | MHS3-32D | MHS3-40D | MHS3-50D | MHS3-63D | MHS3-80D| MHS3-100D | MHS3-125D
Alzif] LHZ mm 16 20 25 32 40 50 63 80 100 125
A=A 37|
AF22H2 MPa 0.2~0.6 0.1~06
FoARE 2 ASRAHRE T -10~60
HHE2ME mm +0.01
20 AFSHIE c.p.m 120 60 30
ERis FE7
disE 558
=DM FOpR 2N | JATRE 14 25 42 74 118 187 335 500 750 1,270
Q24 0.5MPa | YZTXE 16 28 47 82 130 204 359 525 780 1,320
Ny AEEImm(ZA) 4 4 6 8 8 12 16 20 24 32
a2k 60 100 140 237 351 541 992 1,850 | 3,340 | 6,460
1) 616~ 9252 MX|™ L=20mm, ¢32~ 9632 LA L=30mm, ¢80~ ¢1252 L{X|& L=50mmoflAe| ZtRIL|C}
2t I R[0[AM e M2 [AZTLA|Z]H0[E p.447~p.4498 EHZESHUAIL.
F2) M- HAl XE2, 43 AZATXAIS] ZruCh
T
EFS| AFER o 2 AFEY
e —— e
| \ A——IH [ | — a
|
I k¥ N/) 1 \ I l J |
Yav4
\ \l\ | /I/
T T
R | N B
® ® ©® O ®
THEE
HE 2xg WS H3 S 229 & B[
1 = 420|582 ZE LZ0I0|EXE| 10 IAE 1zl NBR
2 Ias LR0|EES HE A= 0io|EXE 1 2E 1z NBR
3 2 Etazt Ax2| - SXz 12 TpAz NBR
4 A Etazt x| - EFHE 13 PAEy NBR
5 | Y2058 3 g=0jo|Exz|
6 oHE Zajo|E A QA
7 IAE EE AH AT
8 2 OpJHE ek
9 | cg ~gz etz HaEz
uEEE
2z MHS3-16D MHS3-20D MHS3-25D MHS3-32D MHS3-40D FToEZ
WZIME MHS16-PS MHS20-PS MHS25-PS MHS32-PS MHS40-PS DORB
o P3316004 P3346104 P3316204 P3316304 P3316404 ®@
2 P3316003 P3316103 P3316203 P3316303 P3316403 ©)
IAE Assy MHS-A1601 MHS-A2001 MHS-A2501 MHS-A3201 MHS-A4001 O0®
Hzo MHS3-50D MHS3-63D MHS3-80D MHS3-100D MHS3-125D ToEZ
o ZIM E MHS50-PS MHS63-PS MHS80-PS MHS100-PS MHS125-PS OOR®B
o P3316504 P3316604 P3316704 P3316804 P3316904 @
24 P3316503 P3316603 P3316703 P3316803 P3316903 ®
LAE Assy MHS-A5001 MHS-A6301 MHS-A8001 MHS-A10001 MHS-A12501 Q0®

*LHE 1Y, 3 FESHIAIL.

446

SVC

O




IR

Lig

@2 22 x| H2
EMNEOE iR MEUoIM AFESHH FHA2.

X ZHAL Ot AEabX 3 dej =zl 2t YHE=

3z oloj® MHS3 series

o

@< 39 mx|Ho| M=ol EAIE ZOo|=Ct 7l ROoIM AHSEH T f
Y S50l 7t x| = HStE0| Do stA| o, +Foll AAEES n[X =
Sol0] FLIT}. I f-—
|_
g I_ g}
L L
2 ZItA| AEH LH-Z K| AR
== - OhK|A
)él_g__u_l.xlg! L: ZEXIEAE
AuX|= LA DK 2
. |Z R 2 HZ iR 2
QEZ Jefj=o mX =2 otzf 2 &M
e 7ol Wof A RA2o| B 92| MHS3-16D MHS3-16D
Hetm s MEfollM 2l T 174o| 2 Fz o5 25 i
L LHi|C
FEHEH L CF. ” 2% 0.6MPa
20 2 0.6MP ‘
I ¢ ————1_0.5MPa
z 0.5MPa _ﬂzr 15 \x
i il — 0.4MP
3 L | o0.4mP4 K T a
=0 ! 20 —1 0.3MPa
| 0.3MPa — .
Tt 0.2MPa
5 0.2MPa 5
F ‘T—\\ r\
i 0 5 10 15 20 25 30 0 5 10 15 20 25 30
M XA Lmm X Lmm
MHS3-20D MHS3-20D MHZO
T T 20 T T —
35 2t 0.6MPa {}g‘ 0.6MPa MHZJ2
2| AL}X| 30 ~ | ol ! i
o ~— ~_0.5MPa
~_0.5MPa 30
25 I - - T MHQ
z I 25 0.4MPa [
20 0.4MPa mr \
il il
w K 20 0.3MPa MHL2
K — 0.3MPa ]
B T—— 15 , — —
0.2MPa
1 o
10 = 0.2MPa 10 — MHR
: ° MHK
0 5 10 15 20 25 30 35 0 5 10 15 20 25 30 35
oA ™ Lmm ot XA Lmm
L Z It MHS3-25D MHS3-25D
[ 70 Y ‘
" I~ 2= l) 6MP4 60 (=1 0.6MPy MHC2
” ‘ o | T
S~ 0 5uea 0.5MPa MHT2
40 | < - ~
= ~_ - 40 0.4MPa
W 40 0.4MP4| m?r \\ MHY2
" \\ E) 30 ~—— 0.3MP —
2 MR 20 — MHW2
—
\\\()_ZMPa ———0.2MPa e
b 10 MRHQ
0 10 20 30 40 50 0 10 20 30 40 50 oE
TXE Lmm oXE Lmm 29X

O
:

447




MHS3 series

A B THR|

@2 SItxX|H o ALY

REZ Jf= 2| miX|H 2, of2f 1B of A
HME 7ol BA W FES0| MF 30
Mot SEjollMel A 171S 5 F=
LIEFE LI CF.

448

X Lmm
MHS3-40D
200
160 2t 0.6MP3
Z 120 —— 0.5MPa
K — 0.4MPa
E) ———
80 0.3MPa
0.2MPa | T
40 0.1MPa

MHS3-50D

350

300

250 I~ 2t 0.6MPa
Z 500 T~
fir ———l_0.5MPa
5150 —t—7 Mpal—
E] 0.3MPa \\0.4 Pa

100 g 2mPa

el
50 L0.1MPa

0 10 20 30 40 50 60 70
X Lmm

MHS3-63D
500
400 On:l’%"l 0.6MPa
— 0.5MPa
300 \\O=4MP
K 0 a
|_51_200 \{SMP
\r_
L 0.2MPa
100 0.1MPa

0 20 40 60 80 100
IHXIE Lmm

A L Z x| =
MHS3-32D MHS3-32D
| | 120 ‘
100 23 0.6MP4
B 243 0.6MPa 100 \\? 6
80 0.5MPa ~—~—~__0.5MPa
T 80 =
=z =z ———_0.4MPa
& 60 ———0.4MPa e, I —
K 0.3MP K
i a | i 0.3MPa L
40 1
0.2MPa 40 0.2MPa
I T
20 0.1MPa 20 0.1MPal

X[ Lmm
MHS3-40D
200
T~ 22 0.6MPa
160 ‘
\\\O?Mpa
Z120 =] w
ar ——1__ 0.4MPa
=3 —
E‘— 80 0.3MPa
|
L | 0.2MPa
S
40 0.1MPa

X Lmm

MHS3-50D
350
300
I~ 22! 0.6MPa|
250 - -
=z
i 200 0. 5MPa
B — 0.4MP
150 |— 0.3Mpa——=2.2MPa
.
100 — 0.2MPa E—
—

50 —0.1MPa

0 10 20 30 40 50 60 70
oA Lmm

MHS3-63D
500 }
orey )
s ~— e c}> 6MP4
_ ~—]__0.5MPa
7 300 0.4mPd
I4:‘_200 =0.3MPa
— 1 loowpa
100 0.1MPa

X[ E Lmm

O
:




9| Amx|

3z ool MHS3 series

LHZ x| 2

MHS3-80D
700 !
- ——_| &2 0.6MPa
T
500 N
z ——1__ 0.4MPa
Tr 400 T
K
X 200 —— 1|  0.3MPa
200 0.2MPa
100 O<1l|\/IPa
0 20 40 60 80
oHX|E Lmm
MHS3-100D
1,000 I
2= 0.6MP3
800 \\ i
I
T~—_0.5MPa
= _— | 1|
7600 0.4MPa
g —1 [
= 400 E— 0.3MPa—]
Tt
— 0.2MPa
200 — T 0.1MPa

IHXE Lmm

MHS3-125D
1,800 [ ]
1,600 ofad
, ]2 0.6MPZ
1,400 —~ |
, —~ [ 1
1,200 fMTa
=z —
000 &'MPa-—
g 800 T 0.3MP&] |
0.
600 — 0.2MPa
400 -
0.1MP4|
200 |

0 20 40 60 80 100 120
oHXAE Lmm

MHS3-80D
[
700 ot
—~—_2% 0.6MPa
= 0.4MPa
7 400 ——
= — | 0.3MPa
—_ \
= 300 I
0.2MPa
200 — i
0.1MPa
100 ‘
0 20 40 60 80
XA Lmm
MHS3-100D
\
1,000 ot=! 0.6MPa
800 D
\ ‘
pzd 0.4MPa——
mreoo 0.3MPa ~
K
= 400 0.2MPa ~
e S
200 0.1MPa
t
0 20 40 60 80 100
OHX| A Lmm
MHS3-125D
1,800 ]
600 ~——l %@1 O,G‘MPG
1,400
200 [~ 0.5MPa
, \
= e 0.4MPa
1,000
K
K 800 ~— \(%iMP‘a_
600 — 0.2MPa™ |
400 ‘
— 0.1MPa
200 | ‘

0 20 40 60 80 100 120
OXE Lmm

O
:

449

MHR

MHC2
T2
Y2
W2
WRHQ

2E

2903




MHS3 series

& %[ A
o[ HxI 2T
MHS3-16D~25D L o

("1 8 XE)
|
]
i
+
]
P
(HH &8 2E) GWA 20 1.5
6-M3x0.5 LIAIZI0| TB AR
3 AB
<z
ma EU C
B0 b -
g = S
%7 9 9 S
D << N2
TR == . l
N o Bk ]
O Ty—
NB S 2
NA % G
3-@SA CB X|Z SB CB 20| SC
P.C.D.R. F2E+YH)
LEARQX XEE &9 X (2 2)
MHS3-16D MHS3-20D MHS3-25D

(mm)

5 A | AB | B | cB|DC|Do|EC|EO|FX|FY[Fz| G | I | g | K]J[NA NB 0 P Q | R

MHS3-16D 35 |32 |30 [ 111517 5 | 7 |125(11 | 3 | 25| 4 [ 10| 4 | 8 |5nh9%40 2 |[M3x05]| 6 | 25

MHS3-20D 38 | 35 | 36| 13|18 | 20| 6 | 8 [145[13 | 8 [ 27| 5 |12 | 5 | 10 | 6h9 %30/ 2.5 | M5x0.8 | 7 | 29

MHS3-25D 40 [ 37 | 42| 15|21 | 24| 7 | 10 ]17 |145] 5 [ 28| 5 | 14| 6 | 12 | 6h9% s/ 3 | M5x0.8 | 8 | 34
5 SA | sB | sc|TB UA uB VA | vB WA XA XB
MHS3-16D 34[65]8 5 | M3X0.5 | 4.5 [2H9*§0% 17H9$ O8] 2H9 T 0% 5
MHS3-20D 34|65|95] 6 | M3x0.5[6 [2H9'):0% 21H9 %2 oH9 Q025 o
MHS3-25D 4518 |10 | 6 | M4x0.7 | 6 [3H9'Q0%® 26H9*§9?| 3H9 *§-9%5] 3

450

Q) e ||

SVC



MHS3-32D~80D

CB

CA

0H |
At

3z oloj® MHS3 series

12
i
i
in

<
P
EHIEEED)
2.5’
& @VA 20| VB
6-TA LIAFZIO| TB al AB
SES F 2 ELAL S
g8 ol —
m @' 1 [0
aujou sulgu O @
H 3 ——T w
#_1 O T
[T —5- N2 [
PN = ” — !
NB —1'M
I i, a —
Py MHZO
3-@SACB XI5 SB CB 20| SC P.C.D.R (FIF8LtA)
P.CDR. (3%87%) MHZ2
REALQX| FHEE 2 X (4742) MHQ
| | —
) MHL2
MHR
MHK
(mm) |MHC2
e A | AB | Ac| B [calce| pc| po|Ec|E0| Fx|FY|[Fz]| g | | J | K L M | NA NB L
MHS3-32D 44 | 41| 3 | 52 8 | 16|28 [32 |8 [12 |22 [19.5] 5 [30.5] 6 | 20 | 9 [20H9%0%9% 2 [ 14 | 8h9 D03 MHT2
MHS3-40D 47 [ 44 ] 3 [ 62| 9 [ 1731 [35 [10 [14 [265]235] 6 [32 | 7 |21 | 9 [3H9°0% 2 [ 16 | 8h9 Do0s
MHS3-50D 55 | 52 | 3 | 70 9 | 2035 [41 [11 [17 [31 |28 | 6 [37.5] 9 | 24 | 10 [4H9"9% 2 | 18 [10n9 Y0 [
MHS3-63D 66 | 62 | 4 | 86|12 | 22 | 43 |51 |15 |23 |38 |345] 7 |44 |11 | 28 | 11 [6H9 0% 3 | 24 |1209 %0y |MHY2
MHS3-80D 82 | 77 | 5 |106[13.5] 27 | 53.563.5 [21.5/31.5/47.5/43.5] 8 |56 [ 12 | 32 | 12 [8HO 9% 4 | 28 [14n9 Y3 ———
e 0 P Q | R[sSsA[sB[sc] 1A TB | UA UB | VA vB| wa [we] xa [xB]YC MHW2
MHS3-32D 4.5 [M5x0.8] 11 | 44 [ 45| 8 9 | M4x0.7] 8 | M4x0.7] 6 [3H9'0%% 3 [34H97§%2 2 [3HQ'§0%Y 3 | 6 —
MHS3-40D | 4.5 |M5x0.8]| 12 | 53 | 55| 95| 9 | M4x0.7] 8 | M5%0.8] 7.5 [4H9 " 0% 4 [42H9 "% 2 [4H9 0% 4 | 8 MRHQ
MHS3-50D 5 |M5x0.8] 14 | 62 |55 ]9.5] 12 | M5x0.8] 10 | M5x0.8/10 [4H9*%Y 4 [52H9*9% 2 |4H9'9% 4 | 7 L
MHS3-63D 5.5 |[M5x0.8| 17 | 76 [ 6.6 [11 [ 14 [ M5x0.8] 10 [ M6x1 | 9 [5H9*§PY 5 [65H9*8 2.5 [5H9™ 0% 5 |7.5 305_
MHS3-80D 6 Rc1/8 | 20 | 95 | 6.6 |11 | 19 [ M6x1 | 12 [ M6x1 |12 [6H9'9®Y 6 [82H9* 9% 3 |6H9™®Y 6 |8 [291%
451

O
:



MHS3 series

2|

MHS3-100D - 125D S

o2t

A=

08|
N
ne
o
H
Im

Al EC

k=1
=]

ZEA EO

Er
=

(Y2 Al DO)
(Al DC)
J

X

-
3—@SACB XI& SB CB Z0| SC
P.C.D.R.(:/8287Y)

LEAQX FHEE 2 fIX[(42)
MHS3-100D MHS3-125D
k)
N
AN
(mm)

215 AA | AB|AC| B | CA| CB|DC|DO|EC|EO|FX|FY|FZ]| G | J K L M | NA NB

~

MHS3-100D 96 | 90 | 6 [134[18 [30.6] 66 | 78 | 28 | 40 | 59 | 54 | 10 | 63 | 15 | 38 | 15 | 8HQ*§0% 34 [18n9 % g3
MHS3-125D  [122 [114| 8 [166[23.5/38 | 82 | 98 [ 30 | 46 | 74 | 68 | 12 | 84 | 18 | 52 | 21 [10H9'9%%] 6 | 40 [22n9 % ¢sp

715 0 P Q| R [sA]|sB]sc TA B UA UB VA VB WA | wB XA XB
MHS3-100D | 7.5| Rc1/4 | 23 [118] 9 [14 | 21 | M8x1.25| 16 | M8x1.25| 16 | 8H9':0%] 6 [102H9 *9-087] 4 | 8HO'{-0%¢ 6
MHS3-125D  [10.5| Rc3/8 | 31 [148 | 11 [17.5] 34 | M10x1.5 | 20 | M10x1.5 | 20 [10H9':%%] 8 [130H9 *9-1% & [10HO'0-0%¢ 8

452

O
:



3z oloj® MHS3 series

MHS3AIE| = HE S20|E FE5 &AM X|+=E=

3—A LtAZ0I B

i

ol e (E)
F-F
MHC2
(mm)

NS A B | C oD E MHT2
MHS3-16D 5.5 |12.5[18H8 3% | 0.5 7
MHS3-20D oxod | 54 |18 [2THBETE] MHY2
MHS3-25D : 17 [23H8 08| —
MHS3-32D 5.2 | 21 |27H8* 3% | 0.8 MHW2
MHS3-40D 22 |31Hg Y% L
MHS3-50D M3x0.5 | 8 | 26 |35H8 79| 1
MHS3-63D 33 |42H8 7399 MRHQ
MHS3-80D 40 |52H8 3% QE
MHS3-100D | M4x0.7 | 9.5 | 54 |70H8'¢%¢| 1.5 A9
MHS3-125D 62 |82Hg 3%

453

O
:



\)

454



CIAEFH 24

MHSJ3 series

$32, 940,

016, 920,

$25,

@50, 963,

#80

MHSJ 3 —

32

lﬁi—?lil FP=

AL =915 | o
=P
S
AQ9|x
Aeic dorA
6T 16mm 15| oEL00%1 g1g (KAL) l
20 | 20mm QLEALQ|X| AI2
25 | 25mm _ o & Aoz =4[ wal=d Zol(m) | Z=2) N2IE |
S apx ot - oo |58 m
82 | szmm a8 |55 g’ [Eas| @k | Y Bichaswalos] [ [4mass D2 Tow- 280
40 | 40mm = =" | DC_[AC|MEestt2 e 12) (-61) | T ggo |E T
50 50mm 3M i
o V| FON 0 e ®| O
63 | 63mm (NPN) 5V A ® & O
e v
80| 80mm 2| - e FoPV| Fop (@ (@ | O | O o o | O
A=Al £ —
O] ==& | B oM oy |FOBV|FoB |@ | @ | O 0 e @ O
~ | ] 2go|
=1 a=zmEe|l & | 3¢ Pav| - |Fonwy|FONW e 0| O | O
CAEF s Z2e | 4 T en [ sy ¢ PLC
5713 =z=z54 12 0R) ZIEHEA| 3 2V lropwviFoPw| @ | @ | O | O o| O
F_| 2272(FKM) (AIEA) Gl B MHZ]
EEERER) FOBWV|F9BW| @ | @ | O 0 | O | [
TP oM 12V : : MHQ
(M) _ |FBA| _ |@|O]| O e o O 7@
o PN 2EAQRX| melefo| #E[=M ZO0] 7|5 1 0.5m FAUZF2 =M A2 FH E2HE|0f —612 7|sH FUAI2. L
] oy 2t o] AArEe 3m - (Of) O[O T S AJoff Shf g MHR
Best Pneumatics NO.[2] ) _5m """"""" MHSJ3—16D—FINVS—{61]
P.o242E AZs AN 2.,  HOHAS LEAR= . ——
F)MBEAEIY 2 gxmﬂ FHA 2 HZ=e=d MHK
AB5H HPE P AIMREASIR SHE QEASX|OHE2E I
SESCESINER D-F9PL—[61]
S H=2zg| =M
SAL/ ALt iasel=ts
I
W -
i
MHC2
MHT2
& Al MHSJ3-16D | MHSJ3-20D | MHSJ3-25D | MHSJ3-32D | MHSJ3-40D | MHSJ3-50D | MHSJ3-63D | MHSJ3-80D | m——
ARG mm 16 20 25 32 40 50 63 80 MHY2
ALZ2AH| =
- MHW?2
Ar22t2! MPa 0.2~0.6 \ 0.1~0.6
o2 Y AMBFH2EC —10 ~ 60°C MRHQ
HHEAE mm +0.01 L *
o
ETARBEIE cpm 120 \ 60 30 ~siA
== 238
RS =54
FASTREN | BT 9 21 36 62 97 155 280 400
2421 0.5MPaA| L AmR[E 16 28 47 82 130 204 359 525
JHHAE =T mm(ZZ) 4 4 6 8 8 12 16 20
Rzkg 95 150 230 440 620 1,050 1,800 3,200
F1)9 16~¢ 255 THAIZ L=20mm, 932~ 9632 TXIE L=30mm, ¢ 802 TAIZ L—50mmlife] relLick.
2k IIXIQIX|OIA Q) TR TAETIR2, HIOJE] P.457~P.4592 EEsl FAAIL.
Z=O)7H - HA| K22 YF9IA TX|A 2| ZILICE
455

O

SVC



MHSJ3 series

e
.
EF51 ALER 421 ALER
1 (®) @ f? am @
N |
1
NE7
@ ® ® ® © ® 9 o
0121 AMEH
TYEE
e Sz e e e Sz e e
e T AEonjo|=xe| 8 | DoA EREL
B P16~ @25 1 AR AZ 9 | SATHRE EE Azt LAz
2 | maE 030~ 80 UT0[EEIZ | AEUaf|EAz] 10 | mam AR AL
) e axz|  S4Ae 1 | carue EveT, gaca
4 | = =) gxzl - S4Ae 12 | 72z NBR
ET) T AEnto|=xz| 13 | otz NER
6 | dl==aolE () Al A 14 | mrEmy NBR
7 | o= T AAnjo|=x2| 15 | =cmz NBR
WERE
229 MHSJ3-16D MHSJ3-20D MHSJ3-25D MHSJ3-32D FREE
MHSJ16-PS MHSJ20-PS MHSJ25-PS MHSJ32-PS (1 @3) 14 15
bl CR MHSJ3-J16 MHSJ3-J20 MHSJ3-325 MHSJ3-332
2| FKM MHSJ3-J16F MHSJ3-J20F MHSJ3-J25F MHSJ3-J32F (@)
Si MHSJ3-J16S MHSJ3-J20S MHSJ3-J25S MHSJ3-J32S
P3316054 P3346154 P3316254 P3316354 @
P3316093 P3316193 P3316293 P3316393 ®
MHS-A1602 MHS-A2002 MHS-A2502 MHS-A3201 @®
MHSJ3-40D MHSJ3-50D MHSJ3-63D MHSJ3-80D FREE
MHSJ40-PS MHSJ50-PS MHSJ63-PS MHSJ80-PS (1) (13) (14) 15
bl CR MHSJ3-J40 MHSJ3-J50 MHSJ3-J63 MHSJ3-J80
2| FKM MHSJ3-J40F MHSJ3-J50F MHSJ3-J63F MHSJ3-J80F @®
Si MHSJ3-J40S MHSJ3-J50S MHSJ3-J63S MHSJ3-J80S
P3316454 P3316554 P3316654 P3316754 @
P3316493 P3316593 P3316693 P3316793 ®
MHS-A4002 MHS-A5002 MHS-A6302 MHS-A8002 @®

#EA 1D I T 2ol T AN,

O



3z oot MIHSJ3 Series

IR[E

@232 TXIES IXE 2|7t A EIK Jeh=el 7} efepe = A

LIEH = TRX[ZM ELHOIM ARZsH FAAL. —\

@232 LpX[FO| M =0l LIEHF 20| £Cf ZI R0 AHESIAR
AHESFO 71l x| = E5ts0| 2™ ol efdeks

l__

0% = A0l Ct. S—

=

L

2| Z ThA| &EH

AFmixz

NS
— N~
i

L

LH2 kx| el

L TR AE

@& TR EAILY U
o= qpizo MaTxe oy TR Uee A SHAH

LHE A=

X 3702 BAH W OEHX|HET 25 30
Hall e AEfoIM 1702 "ol =& ;|_Er§ HEAl5tD MHSJ3-16D

M- O
AELCH
15
—~——_ge06MPa
P4 ~——
T 10 0.5MPa
3
X ——— | 04MPa
5 —— 0.3MPa
E — 0.2MPa
+ 0
5 10 15 20 25 30
F = IXE Lmm
35
30
~_  2&0.6MPa
25 \=—|I |
Z 20 — 0.5MPa ——
il
7 ———L__0.4MPa
g 15 1 0.3MPa
— ] ]
10 = 0.2MPa
\\\
5
0

5 10 15 20 25 30 35

075 10 15 20 25 30 35

MHSJ3-16D
I I
25
[
~——_2i20.6MPa
20 i
— 0.5MPa
—
z 1 -
fir ——
E e
El 10
[
5 L 0.2MPa-{—
e —
0 5 10 15 20 25 30
OX|E Lmm -
MHZ[]
MHSJ3-20D e
T T
40 22{0.6MPa MHQ
s e
20 ~_ 0.5MPa MHL2
25 ~
P4
mr ——Q.4NPa MHR
= 20 0.3MPa L
& T — e
15
10 ———_ 0.2MPa MHK
—
5

IHX[AE Lmm XA Lmm —
MHC2
MHSJ3-25D MHSJ3-25D —
— 70
LHZ LK N | MHT2
60 60 (g0 6MPa —
sof 50— MHY2
2 0.5MPa e —
Z sob—~ ~gFoemPa ) — ~ MHW2
ir T 0.4MPa
% ol —~ ~_05MPa E % \\ e
T 04MPa ———_0.3MPa
20l T 0.5MPa || 20 _— L m
— — ~——1__ 02mPa
——— _ 02MPa o=
10 10 A1
0710 20 30 40 50 0710 20 30 40 50
IHXE Lmm XS Lmm
457

O
:



MHSJ3 series

AlSTlK|Ed
Al S X[
—
@4 EIix|2| BALY o|Amx| LHZ x|
QEZ Jefj=o| A5 utX|= 2 otz JZ0f LIEH;
ZAXE 702 WH Y oENXHET 25 K F0f
A = o = —
Mool AfeHolA 17hel BAfe) FetFe mastn | MHSJ3-32D MHSJ3-32D
U&LICH 100 120 oreto o
: ————1_&=0. a
100 T
80 otad 0.5MPa
[21210.6MPa o \\
\4
Z 60 2 ohPa z ———1 04MPa
ar | 0.4MPa 60 —
K K 0.3MPa
= 40 0.3MPa = T
— 40 0.2MPa
0.2MPa :
20 ‘
= o.1MPa 20 0.‘1MPa
1 0
10 20 30 40 50 0 10 20 30 40 50
M DA Lmm XA Lmm
160 200
QALK I~
120 [——_ 2=l0.6MPa 160 2120.6MPal—
F — DEVER - ——_0.5MPa
z — 120 — '
- | r — | 0.4MPa
m?!' 80 ——[0-4MPa = —
" L | 0.3MPa o 80 0.3MPa
| —
0.2MPa 0.2MPa
40 — I
0.1MPa 40 0.1MPa
0 10 20 30 40 50 "1 20 30 40 50
IHX™ Lmm X Lmm
I 350
LhZta]
300
200
~ ~_2210.6MPa
~—&=0.6MPa 250 =
\\ ~ ! | = T~
-
z 150 0.5MPa - 0.5MPa——
il D— \T4MP‘ K T [ Gamp
& 100 0.3Mpa [ —~04MP2 & 150 | 0.3Mpa——"0:4MPa
0.2MPa T 100 0.2MPa
T e
50 0.1MPa 50 0.1MPa —]
0 10 20 30 40 50 60 70 0 10 20 30 40 50 60 70
kXA Lmm IHAE Lmm
MHSJ3-63D MHSJ3-63D
|
400 ‘ 500 }
\ %"QOGMP& \ °.=.*"-110.6MPa
200 ‘ 400 [~ |
—~— 0.5MPa I 0.5MPa
z z 300
- ——___ 04MPa = 0.4MPa
B 200 ~ mgl’ ——0.41
B I _O.BI\?Pa 200 - 0.3MPa
100 O.ZN‘IPa ——02WPa
100
0.1MPa . 0.1MPa
0 20 40 60 80 100 7" 20 a0 60 8 100
XS Lmm OXE Lmm

:
O
:



3z oflojxy MIHSJ3 Series

2| Zutk[H LHZ IR
MHSJ3-80D MHSJ3-80D
I
600 700 = oroaa
600 E—
500 2/210.6MP J
\| \\O.SMPa
400 — 0.5MPa | | 500
> —=2" ~ \\0.4MP6
o ————_04MPa o 400
K 300 = 0.3MPa
El — 0.3MPa ,-":,— 300 I —
—03WPa |
200 A 200 L 0.2MPa
100 0.1MPa+—| 100 0.1MPa
0 | 0
20 40 60 80 20 40 60 80
XA Lmm K| Lmm

O
:

459

MHC2
MHT2
MHY2
MHW?
MRHQ

A9IR|



MHSJ3 series

N

MHSJ3-16D~25D

¢B

6—M3x0.5 L{ARZIOITB P
O{EX|HE FFELIAL (EAHBRZE) CB CA
Q -
o 0|0
| W ‘\
= = | =
o o | o a i
B w3 | B —
it 8 ou _ [ R
B
=S - X
/1
g 2
=| 3. ]| AD AE |
T
N
AA |
3—¢3.2 CBX|SSB CBZ0|4 (SD—SDLHHEX)
P.C.D.R FF27Y)
Q
>
~
oM
o
CBXIE(SB)
<
SD-SDEHH
REALX| FEEE 2Al (22)
MHSJ3-20D

3—M4x0.7 LtAIZI0[8

P.C.D.R (FIFELIA)

7013

Zo[1.5

MHSJ3-25D

(mm)

5 AA |AD |AE |AI | B [CcA|cCB |DC | DO |EC|EO|FX |[HA[HB| J | K NB o P Q

MHSJ3-16D | 46 | 16 | 27 | 39 | 30 | 7 |14 [175]195] 75| 95| 12 | 44 | 36 [ 10 | 4 |509 Qo | 2 | M3X05 | 6

MHSJ3-20D | 49 | 18 | 28 | 42 | 36 | 7 |14 |20 |22 |8 |10 | 15 | 50 | 42 |12 | 5 |6h9 D | 25 | M5%08 | 7

MHSJ3-25D | 55 | 20 | 32 | 47 | 42 | 7.5 |175]|235|265| 95 |125| 18 | 59 | 50 | 14 | 6 |6h9 g0 | 3 | M5%0.8 | 8
bE R |sB | TB WA
MHSJ3-16D 24 | 6 5 [17H9 g
MHSJ3-20D 29 | 65 | 6 [21H9*30%
MHSJ3-25D 34 | 65| 6 [26HY*30®

460

O
:



3z olotx MIHSJ3 Series

MHSJ3-32D~80D

Al

6-TA LIAHZIO|TB

O{ERX|HE FFELIA

3-¢SA CBXISSB CBZ0ISC (SD—SDEIHZEZ)

P.C.D.R FFE7Y)

0/(SC)

pil
™

CB

—

SD-SDTHH

CBXE(SB)

3— @ SA)

MHSJ3-63D

pHA

EHEHEC]

AD

AE

MHSJ3-32D

AA

30°

LEARX FFEEF ?IAI 22)

MHSJ3-40D

3-UA L}AZIOlUB

P.C.D.R FIRELIAY

pVA ZI0|VB

pWA ZlojwB

(mm)

715 AA [ACc |AD | AE|AI | B [cA|cB|DC|DO|EC|EO|FX |HA |[HB | J | K L M NB
MHSJ3-32D 63| 3 | 24| 36| 54| 54| 95|19 |31.5]355[11.5[155( 22 | 76| 65| 20 | 9 |2HO *39%5| 2 |8n9 _Jue
MHSJ3-40D 66| 3 | 26 | 37 | 57 | 62[105[19 [36 |40 [15 |19 | 26 | 8 | 75| 2 9 [3H9 *F9% | 2 |8h9 8.
MHSJ3-50D 80| 3 | 31| 46| 70 | 74|115|265[42 |48 [18 |24 | 32 |103 | 88| 24 | 10 |4H9 *3%0| 2 [10n9 _Qpes
MHSJ3-63D 91 | 4 |37 | 50| 79| 9213 |28 |51 |59 [23 |31 | 40 [125 106 | 28 | 11 [6H9 *3%°| 3 [12h9 Suus
MHSJ3-80D | 108 | 5 | 46 | 57 | 93 | 112 |14 |31 |63 |73 |31 |41 50 | 158 | 130 | 32 | 12 |8HO *3%%6 | 4 |14h9 §ou
ES (0] 2 Q R SA SB | SC TA B UA UB VA VB WA WB YA YB
MHSJ3-32D | 45 | M5%x0.8 | 11 | 44 |42 | 8 7 | M4x07 | 8 | M5%0.8 | 10 |4H9 *390| 4 [34H9*3%2| 2 M4x0.7 | 8
MHSJ3-40D | 45 | M5%x0.8 | 12 | 52 | 42 | 8 7 | M4x0.7 | 8 | M5X0.8 | 10 |4H9 *90%0| 4 |42H9+*Q0e2 | M4x07 | 8
MHSJ3-50D | 5 M5x0.8 | 14 | 63 |51 | 95| 8 | M5%0.8 | 10 | MBX1 12 | 5HY *3%0| 5 [52H9*R074 | 2 M5%0.8 | 10
MHSJ3-63D | 55 | M5x0.8 | 17 | 78 | 6.6 |11 8 | M5x0.8 | 10 | M8x1.25| 16 |6H9 *3%°| 6 |65H9*3%| 25 | MBx1 12
MHSJ3-80D | 6 Rc1/8 | 20 | 98 | 6.6 |11 8 | M6x1 12 | M8x1.25| 16 |6H9 *2%°| 6 |[g2HO*2%¢7 | 3 M6 X1 12

N

461

Wl
o
W2
R
W

e
w2
e
WHIZ
WRHQ

221X



BE 1Y

w0 |l MIHSH3 Series

lE
¢16, 920, 25, 932, 940, 950, 963, ¥80

—/ o H
s T l I T esagxzpis
i - =i =i}
=< HAEHHO| ZE(HAE CRI) 2|5 | 2742E
CAEHH & 1T_ﬂﬂ1 lzw( JAEFH] FA) S SIEET
o715 AEHH QS P2l 3= 22H 22(CR) *2n nZH =&
2|5 | HAEHH I:UL_E F %_/&_T'_—?—(FKM) =) AIZIC| Al ME|ZA 254 0f|0{ R 0f| LEAS(X|Z
J CAEFHH £& AT 20 = e R e ey & FRS
S | 4E1ZA7(6) 3e 320l 715719 of
916,920, 6 2500 HSSH O L — AN mpons ooie
2x2 st B PSS ET— 174 SHI27 S & 20| 5
E s Eay } QEALX|e MHSH3—32DA—FON
= - —— OUTCIESE PN wimanessa =
RupAl |27IS] 2EA90R| gl (RHMLHE) | I E A e oo EAVHRE-M4E 712
1
E QEALIX| A MHSH3—32DA—FION4
e LEARIX| FH | #2|=4MZ0[(m)|F2) HEII5 [
zr|saos | L laas| M| TR [eiemamaeos [ T U222cy| mgsst PRI
Ao A= &= oc Tac [nesghizaz]®ie Y |°? | en #16| 40 |2
ol
16 | 16mm (SPN) 5y FONV| FON (@ | @ | O O c e|e| O
20 | 20mm 7—';_ - 3 T2y FOPV | Fop - = -
25 25mm | (PNP) ® e | O @) o o 0O
32 32mm % 2M 12v FOBV| FB |@ | @ | O O - o @ O
40 | 4omm = azme| & | S8 av| |- 2eiol
63 63mm TITHEA| 3 12V i 32
80 | 80mm k2 PNP) | || [FSPWVIFOPW @ | @ | O o) e O
— FOBWV|FOBW | @ | @ O O [ O
ME{ZEM o RN o 5v -
Too ~ ~
27|&| Center pusher 21 (QMEA|) - |FBA|- @O O LR @)
A | AZig4 XE|EM Z0| 7[Z 1 0.5m s £715 (Gl)FON FU=ZFE| =M AR EH Z2HE|0| —615 7|Yall FHAI2.
B | 2zmaA -1 (0l)FONL olollofx 2 SAloll 28 LEALIX| B 2T 1
=) $16, 920, ¢ 250 ME{FA Z  (d)YSoAZ MHSHJ3—32—FONVS—[61] D—FQPL—
HXIe o4 |
THE REH HOEAIS] REAYIRE FEMMEALCE HiEsHE = HiEsE=

F)2MBAEI 2 SAol| Fosl FHA .
AESH H2E —P.494 LEALIR| SRS B

Center pusher Ass’y FRLEALIX| Q| MMAIYS —P.5712 & Xl FHA2.

MI—{SH 3 —ABO|lAHFESN

BETY \—l
_ _ QEAQIX| 1|5
Y= QEALIR| (ABICAITH l —— a ':,} |
S35 o= AoA SIS (AR =
l—.—7|9_[ LEAQX S (RHAILHEY l S 1 7)1 sE
Center pusher LEAQIX| AIQF
Ass' ] REAQIR| ZH [x2|=MZ0 ES EEEES
y za| mass | FEY [pue| me | weme |SERELRELASEENON BD | ees P ECET
_ S = S| 2= = I TESS i) ==t =S e
oj|of 2| e &) | "bc_ Tac|a=ug n=ugeiz) 30 |59 " en 916| 5 go |BEITH
Al2|HLHA 3M ]
AW (NPN) s5v FONV | FON | @ | @ | O @) c o | e O
32 [ 32mm 2 3 12V 3z
20 | 20mm | - PNP) FOPV | FOP (@ (@ | O @) e | ®| O
50 | 50mm % oM 12V FBV| FoB | @ | @ | O 0 - el ®| O
63 | 63mm g OzHE| 7 38 oy ~ | FONWV | FONW e | O 0] 20l ° ®)
80 | 80mm ;I = (NPN) 5V d Ic |PLC
ICHE =
) o | ] |reewv|Forw| @ @ O | O |®= | O
Center pusher e - ]
b FOBWV|F9BW | @ | @ | O O e | O
A | AEigAl . o 12V -
B | AzZaAl - |FoBA| - |@ | O O e | ®| O
2715 (0l)FON FALZH2|EMO 22 EH EHEo —612 7| sl FAHAL.
SHE QLEASX| Za|Qo| -L Eoﬂl))F‘aNL ofl)ollo] M 2} SAl0l| T2 ) SEAQX|P F2E 0
Of ZUllE| R &LO| AM|AFRES B SM e Z (0 YSOAZ MHSH3—A50A—FINVS—[61] D—F9PL—[61]
Best Pneumatics NO.[2] HOBAIS LEALIR| = FEHAZEILICH NEE=EII=Y 228
PooioE AtRAl FaAR,  FNMEAEIR S0 F2sh FAAIL. HE=E aE=E

- AR ASE P40 QEASX| SXIE & A T
D) 2EASI|| MMAIRLS —P 5712 EXo| FAAIS.

62 ZS\VC



MHSH3 series

Oi2IA}
Cral Al ==t
® ® ® ©® ® @ T
/ -
i\ T 'I :ll—;f ! m
il -
H ~i |
|
i =
* 2L AfEY
7 a
mw @® ® O ® @ ® i
THEE
Hs SEY Me Hl2
1 =25 $16~ ¢ 25 : AR AZ ZAZEenio| Ex{g|
$32~ ¢80 : AR RS
2 | mas =7 Azonto|=xz)
3 |#H® Bad LAz - SH2
4 | =A U208 A E| - E4X
5 |2 @A AHIYAZ AXemo|EX| 2|
6 | A=ZolE (A) i kil H35 22o A H| 2
7 | == U205 13 | a2 NBR
8 | Jpo|= agas ZAE U EXE 14 | 7ta3 NBR
9 | TR By 15 | 7taz1 NBR
10 | szt7g=s=e AHIPAZ LAEZ 16 | I A= NBR
11 | o ey 17 | 2Emz NBR
12 | CH Az B 18 | 2=l NBR
nERE
wzn MHSH3-32D i
2EY MHSH3-16D MHSH3-20D MHSH3-25D EeLTE-
MHSHJ3-32D
WZME MHSH16-PS MHSH20-PS MHSH25-PS MHSH32-PS @ () ) 1 1 @
CR MHSHJ3-J32
HAEFHH g”, FKM - - - MHSHJ3-J32F @®
Si MHSHJ3-332S
= P3316054 P3346154 P3316254 P3316354 @
10N P3316053 P3316153 P3316253 P3316353 ®
I AEAssy MHS-A1603 MHS-A2003 MHS-A2503 MHS-A3203 @@
- MHSH3-40D MHSH3-50D MHSH3-63D MHSH3-80D S
TEo T T =
MHSHJ3-40D MHSHJ3-50D MHSHJ3-63D MHSHJ3-80D
LM E MHSH40-PS MHSH50-PS MHSH63-PS MHSH80-PS @ @ ) @® 6
CR MHSHJ3-J40 MHSHJ3-J50 MHSHJ3-J63 MHSHJ3-J80
HAEHH %'1 FKM MHSHJ3-J40F MHSHJ3-J50F MHSHJ3-J63F MHSHJ3-J80F @®
Si MHSHJ3-J40S MHSHJ3-J50S MHSHJ3-J63S MHSHJ3-J80S
A P3316454 P3316554 P3316654 P3316754 @
(A P3316453 P3316553 P3316653 P3316753 ®
I AEAssy MHS-A4003 MHS-A5003 MHS-A6303 MHS-A8003 @O

b3

0.

A= 1S I F23H FHA2.

O
:



?.XI:

Center pusher / A2 A

3z ootz MHSHJ3 Series

@ ®
® © THEE
@ @ s 2zo N H D
© @ 1 Push holder (P) AZ0|FE2 BEUNI0|EXE
2 | gAE (P o208 Az unto| Ex2)
! 3 | Rod holder o208 AR Unjo|EX2)
©) 13 4 | " Y Eng
5 | Pushrod (P) AdIE|AZ PEEE
~ 6 | BEXM ERnL
3 7 | sATYRs=s Ehazt Hzea
8 | c8 AW EAZ e
9 | &7 AdlE|AZ
m : W 10 | 7t&a% NBR
I 11 TIAZ NBR
12 | DAEI|ZA NBR
13 | 2=0fZ NBR
WEEE / DZIMIE (Center pusher / AZIEAY)
Fes e
MHSH3-A32A MHSH3-A40A MHSH3-A50A MHSH3-A63A MHSH3-A80A S
MHSH32A-PS MHSH40A-PS MHSH50A-PS MHSH63A-PS MHSH80A-PS AM71HS 10,11,12,132 MIE
HIHZHES 10,11, 12, 130] 1HE022 2t MRICIIZ O 2 F25) FHAIL.
AxC
Center pusher / AIZIAl
@)
@ @ TMEE
JT‘ : Hs 22y e Bl
@ ‘ ® 1| Push holder (S) U208 AR Unjo|EX 2]
® ® 2 [#© AdB|AZ
> i 3 | Amglsg ABIB|AZE
i 4 | a=gy AEIE A
5 | Pushrod (S) B AZ PEEEE
6 | STFYBA=EE ErAZ e
7 | sznaysa e Erag e
§5 - W 8 | c8aug Etazt UaEz
465

O
:

Wl
o
W2
R
W

e
e
e
WHIZ
WRHQ

291



AL/ A2}

3z oflojt MIHSHJ3 series

Center push gi=

Center pusher / &2 Al

Center pusher / 2ZZZ Al

= MHSH3-16D [MHSH3-20D | MHSH3-25D | MHSH3-32D | MHSH3-40D | MHSH3-50D | MHSH3-63D| MHSH3-80D
AZIEHWHZA mm 16 20 25 32 40 50 63 80
ALESH 27
AL=223 MPa 0.2~0.6 0.1~0.6
FA2E Y ABRAM2E °C —10~60°C
HISAE mm +0.01
A TARRHIE cpm 120 60 30
=59 228
A= =259
FOAISTIR|E N QAKX 9 21 36 62 97 155 280 400
2% 0.5MPaA| LHZ K| = 15 26 45 77 118 187 329 490
ZEFTHA mm B#3H1070%% | #3H10700%0 | paH1079%® | #6H1070%*® |#10H10*9 %8 |@12H10*9070 p16H10 *3O7° p20H10 0084
INEIAEZT =ZA mm 4 4 6 8 8 12 16 20
Ezt g 90 140 220 410 570 970 1,650 2,920
1) 916~ ¢ 25 IPXIE L=20mm, ¢ 32~ ¢ 632 THXIE L=30mm, ¢ 802 DHX|E L=50mmh2| ZHeIL|C}.
2|9 X|Ofl A O] THX| 22 —P 466~P.4682] TARIIX| | CO[E{S AX6H FAAI2.
Center pusher / AIZIC{ Al AFRF MHz[J
e MHSH3-32DA MHSH3-40DA MHSH3-50DA MHSH3-63DA MHSH3-80DA 7
Pusher AZIHLHZE mm 12 20 25 32 40 MHQ
INE=2| = MHL?
AL MPa 0.2~0.6 0.1~0.6
FARE U MNERN2E —10~60°C MHR
Pusher Z|ZAREIE cpm 60 30 L
=e Al MHK
S =t =259 —
Pusher 2AE23 mm 5 5 10 10 15
Pusher 2{ N =
k24 0. 5MPaA| °E 45 130 204 335 524
g 530 770 1,330 2,300 4,000 MHC?
Center pusher / AIZIC{ AL AFQF MHT2
= MHSH3-32DB MHSH3-40DB MHSH3-50DB MHSH3-63DB MHSH3-80DB -
IN AEZ3 mm 5 5 10 10 15 MHY2
ZN AmEE N 6~10 11~15 20~25 29~34 49~59 :
=g g 500 740 1,290 2,250 4,000 MHW?2
$32 ®40 ?50 $63 $80 o
HAEFHHE A BE 1Y 2AQIK|
MHSHJ3-L1D 430 600 1,020 1,710 3,040
CIAEHHEZ! Center pusher / AIZIE Al
550 800 1,380 2,360 4,120
MHSHJ3-CIDA
C{AEF{HSZ} Center pusher / AZ2JAl
MHSHJ3-LIDB 520 770 1,340 2,310 4,120
463

O
:



MHSHS3 series

x| A
©5/20) TiXIE S TR 220t AN Ja = 2 e I I
LIENLES T2 MELIOIA AE ) FAA2. -
@51:29] m/Z0] 50| ek A0l2ct A R AB e -
B 700 26471 Mol Sitisi Sof +20 21 i
ol gelolg Ui H== -1
L_‘_mE I
L L
ol el L) el

L TR E|

AlSmx|

o s A ol ZpR|2 Lizimix|2]

2E= J2jmo| AETHRIAE of) J20| LiEk

%43} 20| BHel B4 3 Ofef|P =7} 2 2o

FeHaL Aefoilaf 1742l Toje) 22iFz aastn | MHSH3-16D MHSH3-16D
ALk »

A

R

DX N

15
20 ]
~—— 20.6MPa ~ | osmPa
~—— | 15 \i
10 0.5MPa ———__ 04MPa
[~S —T———_ | 0.4MPa —
3 10 —— 0.3MPa
b
5 — 0.3MPa — 7 |
+ [—

I 0.2MPa 5 ——1 0.2MPa——
F F 0 ‘\‘]\ 0 \T\
5 10 15 20 25 30 5 10 15 20 25 30
kX Lmm IkX|E Lmm

= MHSH3-20D MHSH3-20D
2ZLiX| 35 m ———
30 35 B olpad | |
210.6MP.
\\\ﬂ%‘o.ewa ~ o
| Il 30
25— — ] ,
> T~ 05MmPa > 25 = MO
20 ~ f e
i ~—L L IR — 0.4MPa | |
K 2 K
5 15 0.3MPa 5 ——| 03WPa
10 I N 0.2MP
b b a
—1— 0.2MPa 1ol —
5 5
0 5 10 15 20 25 30 35 0= %5 10 15 20 25 30 35
OHX|&E Lmm IFX|E Lmm
LHZLIX|
o
MHSH3-25D MHSH3-25D
70 70
60 60—
2t240.6MPa
50 < 50— ™~ I
2210.6MP:
z a0l >~ ~ | = 10 0.5MPa
ar = ~05MPa T -
K K 3 }
E) El !
— [T04MPa T —___o3uPa
20 0.3MPa 20 y
] —, — 1 0.2MPa
——/—1__ 02mP4 T
10 10
0 10 20 30 40 50 10 20 30 40 50
IkX[E Lmm IHXI™ Lmm

:
O
:



AFTR|

3z oflojxt MHSH3 Series

oy aTx EALY
J2f o A BT o2 I LEfL
0l 3742 B U OfEfxIT ET} 2 2o
o= MEfIM 1742 B2 F2iFR BAISID
LIk

2EZF
A
"l
O] A

M

I NE LHB LR
MHSH3-32D MHSH3-32D
]
100 ot210.6MPa
80 20 6MPa \\iﬂ O
80
— oswra Ei
=z
60 i z —— 0.4MPa
fir — 0.4MPa mr 60 ‘T
K K
7 40 0.3MPa—— EREDN \\\O-Yﬂa
0.2MPa 0.2MPa
20 ! 20 L i
0.1MPa 0.1MP&
| 6 |
0 10 20 30 40 50 10 20 30 40 50
kX Lmm IHX|IE Lmm
MHSH3-40D MHSH3-40D
160 200
2t210.6MP ||
120 —~— B a 160 — ot240.6MPa
\ ‘ ™
fr [T lS5uPa Z 120 E— 0.5MPa:
v a fir
r 80 0.4MP = \\Mpa
E] o —
——~_ | 03MPa 80 — T 0.3MPa
\\ T ——
N
40 .2MPa 20 0.2MPa
0.1MPa 0.1MPa
0 | . |
10 20 30 40 50 10 20 30 40 50
THX[E Lmm THX[E Lmm
MHSH3-50D MHSH3-50D
250 350
300
200 ~
~l 220.6MPa 250
— ™~
Z 150 — 0.5MPa 2 0 [~ &'=0.6MPa
ar ~ | fir — ‘
i ~ = —_ 0.5MPa
00 | 03MPa e B 150(-0 3Pl |
[T —1 | [T~ 04wPa
0.2MPa [ 100—0.2MPa
50 | I f—
0.1l\‘/IPa 50— 0.1MPa
0 10 20 30 40 50 60 70 0710 20 30 40 50 60 70
IkX|E Lmm O & Lmm
MHSH3-63D MHSH3-63D
| |
400 ‘ ‘ 500
—~—— ot20.6MPa
300 ~—~ | 400 2120.6MPa
0.5MPa \
2 T ‘ _ —1__o05MPa
300
o ——— | 0.4MPa \
T 200 ; i ———0.4MPa
B | 0.3MPa H 200 0.3MPa
—_ ‘ ——oawp
0.
100 ZMIT’a 100 _0.2’\(|Pﬁ
0.1MPa 0.1MPa
0 20 40 60 80 100 0 20 40 60 80 100
XA Lmm THX|E Lmm

467

Wl
o
W2
R
W

e
w2
e
WHIZ
WRHQ

291



MHSH3 series

AlSUX|=
@ U5 Ttx|2 EAIL Q| ALK LY ZIm}K |24
Q2% Jef=o| MeutX|[H2 ot Do LIEHt
Zat 20| 37He| EH L H{EHX|HETE 25 9/ 0]
a9l = MEHOIA 17H2] TWHO| Z&F2 A5t MHSH3-80D MHSH3-80D
A& 600 700
500 otz40 6MPa— 600 2t240.6MPa—
— - -
400 — 05MPa | | 500 .SMPaI_
mzr ——— 04MPa z 400 —— 0.4MPa |
il 300 - fr
5 — 0.3MPa T 300 0.3MPa__|
E
200 — 0.2MPa 200 0.2MPa
100 0.1MPa 100 0.1MPa
0 20 40 60 80 0 20 40 60 80
IHXIE Lmm IHXE Lmm
Center Pusher Al &2
AziciAE) Azz2iAl
MHSH3-32DA MHSH3-32DB
| | 60 11
— — PA
| | 50 / 10
PA / PB
40 / 9 A
PA: FMFH z / z /
ar / ar s /
L 0 /
i / Hl /
20 / <I 7 v
[ _ —+pB 10 6
0 01 02 03 04 05 06 0 1 2 3 4 5 6
PB:AZEE So5UEMPa ZMAEZF mm
MHSH3-40DA MHSH3-40DB
180 16
/|
150 15
PA / PB
/] 14 A
> 120 V4 ~ /
ar / ilg /
£ / m B e
3 "
H
30 '/ 11
0 01 02 03 04 05 06 0 1 2 3 4 5 6
S=UEMPa ZINAEZT mm




3z ooz MHSHJ3 Series

Center Pusher?| Al &5

ARICIALED AT
MHSH3-50DA MHSH3-50DB
300 25 i
| — —= PA PB
| 250 24
200 ) / 23
_ z >/ z
PA: FMFH mr b
/] n
K- 150 o 22
by / H
B 100 // ALY
"— 50 ,/ 20
L - — PB L
0 01 02 03 04 05 06 0 2 4 6 8 10 12
SS5UEMPa FMAEZT mm
PB:AZEH
MHSH3-63DA MHSH3-63DB
600 34 i
PB
500 33
z 400 FA 32
mr > mzr
li.li 300 W 31
e Hl
<|
200 / 30
100 29
0 01 02 03 04 05 06 0 2 4 6 8 10 12 MHZD
Z a9t MPa EMAEZI mm —
MHQ
MHSH3-80DA MHSH3-80DB —
%0 B i MHL2
PB ———
750 57
PA
_ 600 > 55
fir >’ ir
K- 450 m 53
x v b
" 300 51
150, 49
0 01 02 03 04 05 06 0 3 6 9 12 15 18 MHC2
S=UEMPa IHAEZT mm —
MHT2
F1)A2IciAlo| 32 Push Rod2| F2& SYL|Ch —

MHY2
MHW?
MRHQ

A9IR|

469

O
:



MHSH3 series

N

MHSH3-16D~25D

P 710
6-M3x0.5 LIAZIO[TB NIRRT 3-M4x0.7 LtAZI0l8
CEAEE AR e B LA FX o /of-C-D-R TS

52 g8 -
ol f ol ol |ofu e
s | B T |7 %ﬂ )
3| G Bl | U <| | O
- ] R 4 SR | R - |- | m m
ASY ASY S
h o ¢ 3H9 *3% 210|3
& ¥
e o ” [ $WA ZI0|1.5
+
NB g ]2 BD P
i (HAHeExE
[NA] 2 1| o
3—¢3.2 CBX|E SB CBZ0|4 AC AD, AE
P.C.D.R F®87Y) AA
LQEALX| FEE = fIX| (22)
MHSH3-16D MHSH3-20D MHSH3-25D
\
\ \
o0 y
(mm)
ES AA |Ac |AaD |AE|BA BB |BCc |[BD|CcA|cB|[DC|DO|EC|EO|FX | G| I | J K | NA NB
MHSH3-16D | 46 | 7 [10.5|285| 30 |305| 34 | 27 | 7 |14 |175]195|75| 95|12 | 32| 4 | 10| 4 8 |5h9 8030
MHSH3-20D | 49 | 7 [12 |30 | 36 |365] 40 | 28 14 |20 |22 |8 [10 [ 15 | 34| 5 | 12| 5 | 10 [6n9 S0m0
MHSH3-25D | 55 | 8 [13 |34 | 42 |425]| 47 | 32 | 75 |175|235]265| 95 125/ 18 [ 38| 5 | 14| 6 | 12 |6h9 S0
7= 0 P Q | R |[sB| 1B WA ZA
MHSH3-16D | 2 M3x05 | 6 | 24 | 6 5 [17H9*3%% |3H10 73040
MHSH3-20D | 25 | M5X0.8 | 7 | 29 [ 65 | 6 [21H9*30%2 |3H10*004
MHSH3-25D | 3 M5x0.8 | 8 | 34 | 65| 6 [26H9*0052 [4H10+00%8
470

O
:



3z oflojxt MHSH3 Series

MHSH3-32D~80D

6-TA LIARZIOITB

3—¢SA CBX|E SB CB#0|SC

P.C.D.R FZ&873)

3-UA L}{ARZIO|UB

3-YA LIARZOlYB

é
o S
N L e}
ASY
® HER
P S 8 Q N T e e e
oo Wiu
QA om|om
' % elE L e
N 73| % xi_y
- O zuldu —
NB - BD
NA M I G @HeEEE)
AC AD AE
AA
QEALIX| FRE & A ()
MHSH3-32D MHSH3-50D
/ |\
~ /N g
N Ny
N
MHSH3-80D
_ _ _ Y _ _
3\
/1
/ \
[0\ e
Q
(mm)
715 AA [Ac |AD | AE|BA|BB|BCc|BD|CcA|[cB|DC|DO|EC|EO|FX|[G | T [J |K L M|NA|] NB | O
MHSH3-32D | 63 | 9 [15.5|38.5| 54| 54.5| 62| 36 | 95|19 [31.5(35.5[11.5(155| 22 [435] 6 [ 20 | 9 [2H9 3% | 2 | 14 |8n9 Dye| 4.5
MHSH3-40D | 66| 9 |17.5/39.5| 62| 625| 72| 37 [10.5[19 |36 |40 |15 |19 | 26 |45 7121 9[3H9%8® | 2 | 16 |8n9 Joss| 4.5
MHSH3-50D | 80 | 10 |21 |49 | 74| 745| 84| 46 [11.5|265[42 [48 |18 [24 | 32 [555] 9 | 24 | 10 [4H9 "™ | 2 | 18 [10n9 us| 5
MHSH3-63D | 91 [ 12 [26 |53 | 92[925/102 | 50 [13 |28 [51 [59 |23 [31 | 40 [61 [ 11 [ 28 | 11 [6HO "™ | 3 | 24 [1209 Duus| 5.5
MHSH3-80D | 108 | 15 |31.5|61.5] 112 1125125 | 57 |14 |31 |63 |73 |31 |41 |50 |72 | 12 | 32 | 12 [8H9"3™ | 4 | 28 [149 Qo] 6
ES P Q R | SA|SB | SC TA B UA UB VA VB WA WB YA YB ZA ZB | ZC
MHSH3-32D | M5x0.8 | 11 | 44 |42 | 8 | 7 [ M4x0.7| 8 | M5x0.8 | 10 [4HO ¥%0 | 4 [34H9*3% | 2 |M4x07| 8 |6HI0*™ | 74| 9
MHSH3-40D | M5%0.8 | 12 | 52 | 42| 8 | 7 | M4x0.7 | 8 | M5%0.8 | 10 [4H9 *000 | 4 |4oH9*0%2 | o | M4x0.7 | 8 [10H10 0% [11.4] 9
MHSH3-50D | M5x0.8 | 14 | 63 | 51| 95| 8 | M5%0.8 | 10 | M6x1 | 12 |5H9 *0%0 | 5 | 5Hg *00™ | 2 | M5x0.8 | 10 | 120 3™ [13.4| 10
MHSH3-63D | M5x0.8 | 17 | 78 | 6.6 |11 8 | M5x0.8 | 10 | M8x1.25| 16 |6HO ¥™ | 6 [65H9 "3 | 2.5 | M6x1 | 12 |16H10 '3 [17.4] 12
MHSH3-80D Rc1/8 | 20 | 98 | 6.6 |11 8 | M6x1 | 12 | M8x1.25| 16 |6HO V™| 6 |8HI 3% | 3 | M6x1 12 | 2010 3% | 21.4| 15
471

Wl
o
W2
R
W

e
w2
e
WHIZ
WRHQ

221X



MHSH3 series

Q|&A|$== : Center Pusher /AIEIC Al

MHSH3-32DA~80DA

LIAIZIO|UD M5x0.8
(Pusher Q12| ZE)
Push QHEAIZF 3-UC 5
Push 21 A1ZG ?
[as]
C
4\,%7%4,
1 @ _ o — AL
r [ ] el
1N}
N
zJ
ZH LIAIZI0IZI AH
AJ AG .8
(AF) | (Pusher Y& X E)
Center Pusher?| LEARQ|R| £ 2 & 2|X| (22)
MHSH3-32DA MHSH3-40DA MHSH3-50DA
\\ o>
W
§ &
]
™| ™ 3 L ©
G| a3 | o
5 ~ | 3 -
| Yo} [aV] I
12 o o 3
| Yol
<L> <6—>
16
MHSH3-63DA MHSH3-80DA
N
)
Qk [
" i
( \
‘_,/ ;»,/
| N - 3 Ao - 3
ol ~ —| ©
- 6 - N 6
18 21
F)2I@X| 420 ThsiA = MHSH3—32~80D
QR PLE(P.4T1)E A6l FH2.
(mm)
7|5 AF |AG | AH | AJ | BE BF BG |CC | FX uc uD | UE VA VB | zD | zE | zF | zG ZH zI | 23
MHSH3-32DA 35 |26 | 9| 9|30 |32h9 Sos| 53.5] 9.5| 22 | M5%x0.8 |10 |55 [4H9*8%0| 4 | 6| 5 |20 | 15 | M3x05| 6 |35
MHSH3-40DA 36 | 27 | 12 | 9 | 38 [40n9 8oe| 61.5/13.5] 26 | M5x0.8 | 10 |55 [4H9 "% | 4 | 10| 8 | 21 | 16 | M5%0.8 | 10 |45
MHSH3-50DA 44 |33 | 15 | 11 | 48 [50n9 _Soe| 73.5/17.5] 32 | MBX1 12 | 6.6 |[5H9 *300| 5 | 12 | 10 | 28 | 18 | M6x1 12 |5
MHSH3-63DA 48 | 35 | 18 | 13 | 58 |60n9 o74| 91.5/20 | 40 | M8x1.25 |16 | 8.6 |6H9 *3%0| 6 | 16 | 14 | 32 | 22 | M8x1.25| 16 |7
MHSH3-80DA 58 | 45 | 20 | 13 | 68 [70n9 Sorl111.5/25 | 50 | M8x1.25 | 16 [ 8.6 [6HI "89] 6 | 20 [ 17 | 41 | 26 |[M10x15 [ 20 |8

472

O



Q| X|4~ : Center Pusher

AITZ|Al

/

— o™

3z oloixt MHSH3 Series

MHSH3-32DB~80DB

LIARZIOlUD
- w
Push Q+&4AIZF 3-uc = FX
Push 212l41zG T
™
[
4\,%7%A
A O P A
] ASY IR SYIR SY
pVA Zl0|VB
¢WC Zl0lwD
ZH LIARZI0|ZT AH
AJ AG
(AF)
4 - - h N
w| O
32 —
MHZ[]
MH
AH 7Q
AF_, MHL2
MHSH3—32DB, 40DB2| Z 2 [ iim
_ , N , MHR
MHK
F)QIH x| 420 CH3l A & MHSH3—32~80D
AR+ (P.ATI)E EZSH FH 2.
L MHC2
=S AF | AG | AH | AJ BE BF BG | FX ucC UD | UE VA VB WC WD | zD | ZE | ZF | ZG
MHSH3-32DB | 18 | — 9 | 9 | — [32h9 Soe| 53.5| 22 | M5x0.8 | 10 | 55 [4H9 "3 4 | 20*%" |[15| 6| 5|20 | 15 7
MHSH3-40DB | 21 | — | 12 | 9 | — |40n9 Que| 61.5] 26 | M5x0.8 | 10 | 55 |4H9 09| 4 | 24791 |15 | 10| 8 | 21 | 16 MHT2
MHSH3-50DB | 30 | 19 | 15 | 11 | 48 |50h9 8uep| 73.5] 32 | M6X1 12 | 6.6 [5H9 #1300 5 | 32*1 |15 | 12 | 10 | 28 | 18 —
MHSH3-63DB | 35 | 22 | 18 | 13 | 58 |60n9 _Jq74| 91.5| 40 [M8x1.25| 16 | 8.6 |6HO Q00| 6 | 42+01 | 2 16 | 14 | 32 | 22 MHY?2
MHSH3-80DB | 48 | 35 | 20 | 13 | 68 |70h9 0q74[111.5] 50 [M8x1.25 | 16 | 8.6 [6H9 3% 6 | 5281 | 2 20 | 17 | 41 | 26 e
MHW2
ES ZH z1 ZJ —
MHSH3-32DB | M3x05 | 6 | 35 MRH
MHSH3-40DB | M5%0.8 | 10 | 4.5 Q
MHSH3-50DB | M6X1 12 |5 o
MHSH3-63DB | M8x1.25 | 16 | 7 AQIR|
MHSH3-80DB  |M10x1.5 | 20 | 8
473

O
:



MHSH3 series

YRt LIAEHHTE

MHSHJ3-32D~80D

6—TA LIARZIO|TB

OlEHX|HE FFELIAF

CB CA

P.CD.R FF&7Y

V& e

O I] - T e

5

4

| B ]
— = Z — C O XFX
3—-9SA CBX|S SB C)Bn0|SC (SD—SDEHHERR) AC AD AE
AA
REARIX] FHEE & IR (2X)
MHSHJ3-32D

(CBZlolsC)

Al

—

3— ¢ SA)

SD—SDEHH

(CBX& SB)

MHSHJ3-63D

MHSHJ3-40D

3-UA LIAHZIO|UB

P.C.D.R (&8L

FAT)

3-YA LtARZIOlYB

MHSHJ3-50D

(mm)
ES AA | AC | AD | AE | AI B CA | CB | DC | DO | EC | EO | FX | HA | HB J K L M NB
MHSHJ3-32D 63| 3 | 24 | 36 | 54 | 54| 9519 [315|355[115|155] 22 | 76| 65| 20 | 9 |2H9 "9 | 2 |8n9 85
MHSHJ3-40D | 66 | 3 | 26 | 37 | 57 | 6210519 |36 |40 |15 [19 [ 26 | 8 | 75| 21 9 [3H9 "89] 2 |8h9 Q..
MHSHJ3-50D | 80 | 3 | 31 | 46 | 70 | 74 |115]265|42 |48 |18 |24 | 32 | 103 | 88| 24 | 10 [4H9 *29%0| 2 |10n9 Qs
MHSHJ3-63D | 91| 4 | 37 |50 | 79 | 92|13 |28 |51 |59 |23 |31 | 40 [ 125|106 | 28 | 11 [6H9 390 3 |12h9 3o
MHSHJ3-80D | 108 | 5 | 46 | 57 | 93 | 11214 |31 |63 |73 |31 |41 50 | 158 | 130 | 32 | 12 |8H9 *3%6 ] 4 [14n9 .4
PIES 0 P Q| R|[sA|sB|sc TA B UA |uB VA |vB| wAa |wB YA |[YB| ZzA
MHSHJ3-32D |45 | M5%0.8 | 11 | 44 | 42| 8 | 7 | M4x0.7 | 8 | M5X0.8 | 10 |4H9 *3%0| 4 [34H9*3%?| 2 | M4x0.7 | 8 |6H10 T3
MHSHJ3-40D |45 | M5%0.8 | 12 | 52 [ 42| 8 | 7 | M4x07 | 8 | M5x0.8 | 10 |4H9 *39%0| 4 [42H9*00%2| 2 | M4x0.7 | 8 |10H10*3%8
MHSHJ3-50D |5 | M5x0.8 | 14 | 63 |51 | 95| 8 | M5x0.8 | 10 | M6X1 12 [5HY *900] 5 [5pH9*0074 2 | M5X0.8 | 10 |[12H10%3070
MHSHJ3-63D |55 | M5x0.8 | 17 | 78 | 6.6 |11 | 8 | M5X0.8 | 10 |M8x1.25| 16 |6H9 *3%°| 6 |65H9 %307 2.5 | MEx1 12 [16H1073°7°
MHSHJ3-80D |6 Rc1/8 |20 | 98 |6.6[11 | 8 | MBX1 12 | M8x1.25| 16 |6H9 *3%°| 6 [82H9*3%7| 3 | MBx1 | 12 |20H10*3%
474



3z oot MIHSH3 Series

QIHR|4= : L{AEFHHREF Center Pusher /AIZICIA]

MHSHJ3-32DA~80DA

M5x%0.8
(Pusher RIZE)
Pusher MZIAIZF 3-uUcC LtAtZI0lUD
Pusher XA ZG

ZH LtAZI0IZI

o 1
I
_—
\
\

?
|

¢BE

¢BF

#BG

¢ZD
ZE

pVA Zl0lVB

MHSHJ3-63DA | 48 | 35 | 18 | 13 | 58 |60h9 Soz4| 91.5(20 | 40 | M8x1.25| 16 |6H9 *§0%0 16 | 14 | 24 | 14 | M8x1.25| 16 | 7

AH
Al AG
(AF) (Pusher MRIZE)
F)QIER 420l th3iA = MHSHJ3—32~80D
QSR FE(P.ATHE HESH FHAL.
Center Pusher& LEARX| FEE & XK=
MHSH3—32~80DA (P.472) 5 EZal| FAAI2.
(mm)
215 AF |AG | AH [ AJ | BE BF BG | cC | FX uc uD VA VB | zD | zE | zF | zG ZH zI | 23
MHSHJ3-32DA | 35 | 26 | 9 | 9 | 30 [32n9 Qg 53.5| 95| 22 | M5x0.8 | 10 |4H9 390 | 4 6| 5] 14| 9| M3x05 | 6|35
MHSHJ3-40DA | 36 | 27 | 12 | 9 | 38 |40n9 Sy | 61.5(13.5| 26 | M5x0.8 | 10 [4H9 *3%0 | 4 | 10 | 8 | 15 | 10 | M5%0.8 | 10 | 45
MHSHJ3-50DA | 44 | 33 | 15 [ 11 | 48 |[50n9 S| 73.5[17.5] 32 | M6Xx1 12 |5H9 *30%0 | 5 | 12 | 10 | 21 | 11 | M6X1 12 |5
6
6

MHSHJ3-80DA | 58 | 45 | 20 | 13 | 68 |70n9 J¢7|111.5/25 | 50 | M8x1.25| 16 |6H9 T30 20 | 17 | 31 | 16 [M10x15 | 20 | 8

475

O
:



MHSH3 series

LUEX| £ QAEFHH B2 Center Pusher /A E AL

AIZTZ|Al

MHSHJ3-32DB~80DB

LIARZIOJUD
ZH LIAIZIO0IZT Pusher B Xl A|ZF 3-uc ) X
Pusher £XAIZG ‘S
(es]
C
% (\ o e s
| \ @ wiw|o
] - - —rom|o|jm
a ASYIRSYIRSY
N| &
ASY
Z)
pVA ZI0|VvB
— AH pWC ZI0|wD
AJ AG
(AF)
’ LLJO !
. m| o
‘ e &
‘ AH
| AF
LMHSHJS—SZDB, 40DB2| A2
F)2lAR 420l thah M= MHSHJ3—-32~80D
QAR SE(P.ATHE EZel FHA2.
(mm)
IE AF | AG [ AH | AJ | BE BF BG | FX uc uD | UE VA VB wc |wp|zp| zE | zF
MHSHJ3-32DB | 18 9| 9 32n9 Joeo| 53.5| 22 | M5%0.8 | 10 | 55 |4HO Y390 4 | 20*%" | 15| 6| 5| 14
MHSHJ3-40DB | 21 12 9 40n9 30| 61.5] 26 | M5x0.8 | 10 | 55 |4H9 *000| 4 | 24 "1 | 15| 10 | 8 | 15
MHSHJ3-50DB | 30 | 19 | 15 | 11 | 48 |50h9 Q.| 73.5] 32 | M6X1 12 | 6.6 |5H9 Q00| 5 | 32 %21 | 15| 12| 10 | 2
MHSHJ3-63DB | 35 | 22 | 18 | 13 | 58 [60h9 So74| 91.5| 40 [ M8x1.25| 16 | 86 [6HO *3%0| 6 | 42 "1 | 2 | 16 | 14 | 24
MHSHJ3-80DB | 48 | 35 | 20 | 13 | 68 [70h9 _§o74[111.5] 50 | M8%1.25| 16 | 8.6 [6HI *3%°| 6 | 52 31 [ 2 [ 20 | 17 | 31
715 ZG ZH z1 | 23
MHSHJ3-32DB | 9 | M3x05 | 6 | 35
MHSHJ3-40DB | 10 | M5%0.8 | 10 | 45
MHSHJ3-50DB | 11 | M6x1 12 | 5
MHSHJ3-63DB | 14 | M8x1.25| 16 | 7
MHSHJ3-80DB | 16 |[M10x1.5 | 20 | 8

476

o
:



3=
(Y ES
JHE

o0&

0t

MHSL3 series

016, 920, 925, $32, 40, ¥50, 63, ¥80, $100, $125

S AlTT A|HE
A A
SR
Y GRyA MHSL 3 —20) D—F9N
_W\l lﬁﬁ%il FIpIE
AL
=T 2|5 [ 2s4=x
Y - = x|
Losas s | e
[EI15] e =29z ols RHAE) l
AlRICLYA QEARIX] AR
= QEAXEH| x2[EMZO|(m) [F2) -
1 16mm = 5 T o
28 omm z2|s47|5 E}'j; ENE (gg) TORIY [acumEw| 05| 3 | 5 |4232=H| mgwe) ;Eﬂ(ﬂi
o — ["oc_[ac|zustgus @iz O | @ | (6D S
sdmeN)|  [sv| [FoNV FN (@ @ [ O O IC O
2| - 3dpNe)|  12v) [FPv [Fp (@ @ [ O O |32 |06 O
2= J=mE| | aqv| |-|FBV|FB (@ @ [O ] O plc O
aZUAM & |H 5 [hansaz M 12V -
g gl [ees 24 —|rBA|- |@ O] © o
B =s8 ] =3 |e¥ed) '
%2|=M 210] 7|3 1 0.5m 27|15 (0fl)FOB FUZHE| =M B2 FH ZHE|of| —612 7|Ysl FHA2.
3m L (eihFoBL o) oflof & 1} SAo| Z=2 8t MHZ[]
7 5m z  (0l)F9BZ MHSL3—16D—FINVS—| 61]
HOEAQ| QEALIR|= ZRAMAZEQLICE —
)M EA|EI 2 SRI0l| FOI5) FHAIR.
NEFH HPE P49 LEALIX SRS AT FHAL HZ=el=t MHQ
D) REALIX|Q ANAIYS P 5712 AT FHAL. QEAQR O ERY I
D-FoPL—{61] MHL?2
VEEEIY MHR
MHK
nRyaNVAN MHSL 3 —50| D —Y59A e
| l&'—ié-‘.’—lil Eylvik-4
e -
| oot MHC2
2|5 | LEALA S5 (RHMLHE) —
ARICiLZ ==l MHT2
32| 32mm LEARIX| AR s
e QEAREH | x2|EMZO|(m) |H2F -
29, 4 z5 s " |mas| 0| Y Gcuazawios | s [ 5 (22| mese [T [MAY2
50 | 50mm X & (&=) e prve e PN o AdpER L
63 | 63mm DC_|AC| Zdret|slarst [R713)] (L) | (@) | (=61) SRR
A
80 | 80omm . SHNPN) [ o) (Y6 [V5A | @ [@ | O csi=l O | [MHW2
g A BN Y698 | Y598 | @ | @ | O - O
125 | 125mm & 2 1 S aijo] | MRHQ
S |xomREME| ® (30PN o - VINWIYVINW] @ | @ [ O [EE | o e[ O | —x
NS e | T |umk) 3M(PNP) : Y?Pwv|[Y7PW [ @ | @ [ O O 2=
— o |7 Y7BWV|Y7BW | @ | @ | O @) 23R
_ _ m ;{ LH_/I\_)ggobg.n 2{\_—| 12\/ _
_-H-:A|7|S>_ ~ ~ (2/\_\HEA|) - Y7BA - [ ] O @)
T B|EM Y0715 :05m 715 (ol)Y598 S QEAQIX| Z2|240|0ZUERELO| AIAIES
3m L (ol)Ys9BL e Best Pneumatics NO.[2] P.2242E &Hxsl| FAIAIL.
| | 5m zZ  (ol)ys9BZ
KOEA|2| QEAR|R|= ZRMMEQILICE
)M EAEIIS SRI0l| Folo) FHAIR.
ABSH ADE —P.494 QEALIX| SRS EAMN FUAIR
| F)REAQIR| ANAYS HP.571S AEH FHAIR.

477



MHSLS3 series

AL/ ATQF
g4 MHSL3-16D [MHSL3-20D|MHSL3-25D|MHSL 3-32DMHSL 3-40DMHSL3-50DMHSL 3-63D| MHSL 3-80D| MHSL 3-100D|MHSL3-125D)
AIRICLZE mm 16 20 25 32 40 50 63 80 100 125
ALESA| =
AFB2IE MPa 0.2-06 \ 0.1-0.6
Fo2E Y ABRH2E °C —10~60°C
HEE™E mm +0.01
£ TAFBHIE cpm 120 \ 60 30
2o F27
S =58
FOASOIRE N (|YZERE 14 25 42 74 118 187 335 500 750 1,270
213 05MPaAl  |WATRE 16 28 47 82 130 204 359 525 780 1,320
INEHIAEZS mm (1) 10 10 12 16 20 28 32 40 48 64
) 80 135 180 370 550 930 1,550 | 2,850 | 5,500 | 11,300
1) $16~ ¢ 25%= Tk L=20mm, ¢ 32~ ¢ 632 MX|H L=30mm, ¢80~ ¢ 1252 MX| & L=50mmeU}2| ZtL|Ct.
ZHIR| QR0 M Q] TR e FAFTIK|ZY) H|0|E] P.479~P. 4815 EXal FAAIL.
F2)7H - BA XIS Y3 nkx| Al ZrelLiCh,
FEE
——
=R
i
[ |
X' |
THEE
HS 758 A H| 1 HS 54 A H|
1 = UR0| 5SS ZEUNI0|EXME| 8 | IFXMAM 2ty
2 | mAE k=i ZEYnto|EXE 9 | CEAWY B =3
3 | # Eazd g™ - E4HE 10 | WAEHZ NBR
4 | =A EAZ ™| - E4H2 11 | 2=z NBR
5 | # U0 58t= ZEAUDI0|EXNZ| 12 | 7ta2 NBR
6 | H=EESaolE gAY 13 | 7tast NBR
7 | AEEE AEIYAZ
WERE
229 MHSL3-16D MHSL3-20D MHSL3-25D MHSL3-32D MHSL3-40D e
UM E MHSL16-PS MHSL20-PS MHSL25-PS MHSL32-PS MHSL40-PS O]
oA P3316034 P3346134 P3316234 P3316334 P3316434 O]
4 P3316033 P3316133 P3316233 P3316333 P3316433 ®
I AEAssYy MHS-A1601 MHS-A2001 MHS-A2501 MHS-A3201 MHS-A4001 @0®
Bz MHSL3-50D MHSL3-63D MHSL 3-80D MHSL 3-100D MHSL3-125D FRE=
IHZAME MHSL50-PS MHSL63-PS MHSL80-PS MHS100-PS MHSL125-PS DOHR®
iyl P3316534 P3316634 P3316734 P3316834 P3316934 0]
2 P3316533 P3316633 P3316733 P3316833 P3316933 ®
I AEAssy MHS-A5001 MHS-A6301 MHS-A8001 MHS-A10001 MHS-A12501 @0®

A=Y Y F2

478

Si

FHA 2.

SVC

O



3z ofloixt MIHSL3 Series

A
Es|
0232 IXF2 TXFAHRJt AF UK Jejzo| Zt iz =
LIEILHE THX|Z MELHOIIAM AFZE FAAL. —
@< 32| LpX[FO| M0 LIEHF ZO[ 20 2 A AHSSHH
YAHE S0 Jteli X = Hsts0| ZithatA =lof ol 2Fste ~
0jx| = ielo|Elct. I —CE -
B =
L [
2| mHX| ALEN LHZ K| AFEH
Al 1 L opX|E e
—_— =
Al S ILFR[E
I
O SILX| HAIL AIx| N
2% Jal=o| AEuX|HS ofzf 20| LiEHt 2B HE A=
Z41} 20| 3702 HWH U HERR|IHET 25 2 F0
Holols AEHOIA 1742l Bl F24F=2 BAlsin MHSL3-16D MHSL3-16D
UELHICH 25 o5 -
~—|_22i0.6MPa
20 21210.6MPa 20 '
\h'\| ————| 0.5MPa
z . 0.5MPa Z 5 \{
o i —
S | o04mPa [ ———2aMPa
B 10 } = 10
L | o03wmPa i
T 0.2MPa
5 0.2MPa 5 !
F T L]
i 0 5 10 15 20 25 30 0 5 10 15 20 25 30
M IHX|E Lmm THRIE Lmm
MHSL3-20D MHSL3-20D
T T
35 g ?;E#lo.emlpa 40 el
30 \I I % I~ \!
~ [ L 0 ~_| 0.5MPa
25 t - L \'\
—~ 25 0.4MP.
TE_ 20 T~ 0.4MPa E 03MP\a
K K 20 . a
5 15— 0.3MPa H T —+—
T 5 | 02wMPa
L :
10 L 0.2MPa 10 ——
5 5
0 5 10 15 20 25 30 35 0 5 10 15 20 25 30 35
THX|IE Lmm TFX|A Lmm
LHZ LA MHSL3-25D MHSL3-25D
60 I 70~ |
60 2t240.6MPa
2t210.6MPa =5
2 E < oL S
0.5MPa
40— 0.5MPa _ = \|
z I~ 40 0.4MPa
- 0.4MPa il T~
30 = —
K ~— X 30
E T 0.3MPa ——~—~_0.3MPa
20 —— — 20 —
T T———_02MPa ——1__0.2MPa
10 10
0 10 20 30 40 50 0 10 20 30 40 50
IHXIA Lmm IEX[E Lmm

479

O
:



MHSL3 series

ST

OL BTN EAIYY
2EZ ezl 5 upx|H 2 o2 1ol LEHS
A1k Zo| 72| H W OERRHET 25 230
Hall U= JEfOIM 1712 B2l 23 F2 EASIL
A& L

o Z x| LjZAm}R| 2
MHSL3-32D MHSL3-32D
| | 120 ]
100 B 2240.6MPa ~—| 22l0.6MPa
| 100 5
80 0.5MPa ~—~~__0.5MPa
Z 60 0.4MPa z — | 04MPa
w T T 60
5 LEi P X 0.3MPa
[ I 7 —
40 — —
0.2MPa 40 0.2MPa
[ T
20 0.1MPa 20 0.1MPa
0 10 20 30 40 50 0 10 20 30 40 50
TRAIE Lmm TR Lmm
MHSL3-40D MHSL3-40D
200 200
T~ 2={0.6MPa
160 912{0.6MPa 160 '
z — ~ | —~—__0.5MPa
120 0.5MPa—|—| 2120 - ——

Ll S r ——__0.4MPa
= ———04VPa 53 0.3MPa] _
80 0.3MPa = 80 .3MPa

|
02MPa | [ — | o2mPa |
40 0.1MPa 40 0.IMPa
0 10 20 30 40 50 0 10 20 30 40 50
IX|E Lmm kXA Lmm
MHSL3-50D MHSL3-50D
350 350
300 300
~~— 220.6MPa
250 ~__ 2=0.6MP 250 —~
=0. a —
Z200 T~ Z 500 — 0.5MPa
fir ———]_05MPa ar —~ I
K — | K —~——_ 0.4MPa
|-515O 0.4MPa T =150 [— 0.3MPa
0.3MPa ——-0. ——
100 ' 100 |— 0.2MPa ————
0.2MPa -
50 L0.1MPa 50 _0.|1MPa
0 10 20 30 40 50 60 70 0 10 20 30 40 50 60 70
IHX|E Lmm XA Lmm
MHSL3-63D MHSL3-63D
500 500 I
~—_| 2/210.6MPa
400 ‘-’=-’§1|0-5'V'Pa 400 — |
~—___05MPa
z \\0'|5MPa z \|
7 300 T il 300 ———___0.4MPa
53 —___ 0.4MPa K i
™ 200 0.3MPa 200 _03MPa
T I 0.2MPa
—— 100 — —
100 ST 0.1MPa
0 20 40 60 80 100 0 20 40 60 80 100
X Lmm X Lmm

o
:




3z ofloit MIHSL3 Series

2| FIR| LHZR| 2
MHSL3-80D MHSL3-80D
[ T
700
| er=06mpa 700 ———|&=0.6MPa
600 \i 600 S— }
500 E— b 500 \oéﬂpa
z z I 0.4MPa
——1|__ 0.4MP
T 400 — 7400 —
‘_E_ —_— 0.3MPa K — 0.3MPa
300 — ™300 T
0.2MPa .| 0.2MPa
200 - 200 f
0.1MPa
100 0.1MPa 100 |
0 20 40 60 80 0 20 40 60 80
IX|E Lmm IHX|E Lmm
MHSL3-100D MHSL3-100D
| [ I
1,000 1,000 o
’ [ ot2{0.6MPa
G =" |
| 800
800 i 0.5MPa
I~ o5MmPa ~_ ~
Z 600 . Z 600 0.4MPa ——
ar 0.4MPa o 0.3MPa L
K — K
El 400 — \?_3\MPa — 13 400 0.2MPa =
T 0.2MPa s
\|§ 200 0.1MPa
200 — | \o.llwa L1

0 20 40 60 80 100

TRX|™ Lmm
MHSL3-125D
1,800 [
1,600 orad
; ~—__2!=l0.6MPa
~ |
1,400 —
Sy
1,200 0-\MP|a
=z —
51,000 0.4MPa +—
7
7 800 0.3MPaT |
B} r—]
L
600 =—— .
400 —
0.1MPa
200
0 20 40 60 80 100 120

THX[E Lmm

THX[E Lmm

MHSL3-125D

1,800 i i

1,600 —— — 2=10.6MPa

1,400 !

1200 [——~~—_] 0.5MPa

B 1
z T 0.4MPa
1,000
= 800 E— 0.3MPa —|

600 —— | 0.2MP|a ]

400 I N N R TY

200 — |

0 20 40 60 80 100 120

TXIE Lmm

O
:

481

Wl
o
W2
R
W

e
e
e
\HIZ
WRHQ

22(X|



MHSL3 series

Sl

MHSL3-16D~25D

6-M3x0.5 LtAIZI0|TB
OER|HE FF-ELIAL

3—-¢SA CBX|ESB CBZl0|SC
P.C.D.R FF&7Y)

pr S
Q0
on
=i
ol ol
A% ¢
Bl

NB

NA
BD

REARIX FEE E /X 22)

MHSL3-16D

CB 7 P
LPF’EE (EARYEE)
]
P
EREEES)
(AA) nE gWA ZI0|1.5
3 AB pVA Zl0|VB 3—-UA LtAtZIOl6
P.C.D.R (FIFELtAD
010 L <> Y
w
==y
Ee 0
30 au A— g
] )
X
- o
S 2 AD
$
2 I
N
H G
3|87y CB R4

MHSL3-20D - 25D MHSL3-16D

)ot2 ¢ 252 Mo X|4
(mm)
S AA | AB | AD | BA | BB | BC | BD| CB | DO |DC | EO | EC | FX | FY FZ G H I J K NA NB
MHSL3-16D 43540528 | 30 | 40 [30.6] 12 |14 |235|185[135| 85| 125/ 11 3 [305|7 |4 10 | 4 8 | 5h9 84
MHSL3-20D |46 |43 [29 | 36 | 45 |366]| 16 |14 |26 |21 |14 9 [145]13 3 (32 |8 |4 12 | 5 [ 11 ] 6h9 Qo5
MHSL3-25D |49 |46 [31.5]| 42 | 52 [426] 19 [165]30 [24 |16 |10 |17 [145| 5 [342|78] 45| 14 | 6 |13 | 609 Som
ES NC | O P Q| R|[sAa|sB|[sc]| B UA VA VB WA XA XB
MHSL3-16D 5 |2 M3x0.5 | 6 | 25 |34 |65]| 5 5 | M3x05 | 2H9*9% | 2 |17H9*30%8 | pHg 005 | o
MHSL3-20D 7 | 25| M5%08 | 7 | 29 | 34|65 8 6 | M3x05 | 2H9 3% | 2 [21H9*30%2 | pHO *395 | 2
MHSL3-25D 713 M5x08 | 8 | 34 | 458 8 | 6 | M4x0.7 | 3H9 *3%® | 3 |26HO*R®? [ 3H9 1§ | 3

482



3z oot MIHSL3 Series

MHSL3-32D~80D

CB CA P

P
3—¢SA CBA|SSB CBZO|SC (WHB R E)
P.C.D.R FI®27Y)
6-TA LIAIZIOITB
O{ENRIHE F=ELIAF (AA)
AC . AB
s
— 13
g 8l °
= omon | ]
0”'” suy¥ol 1
i F%*
palll m No=——r
~ -
mlLy AD
H | G
REARIX FEE F /Al 42) FF27YH CB X[+
MHSL3-32D
F)QEAQIX| |2 E7I0| 22T R0
CBEA0| ZetELCt (¢ 322
(mm)
72|15 AA | AB | AC |AD |BA | BB | BC | BD | CA |CB | DO |DC |EO |EC | FX |FY | FZ | G H I J K
MHSL3-32D |58 |55 | 3 [355| 52| 72| 526 24 8 |20 |42 |34 |22 |14 |22 |195| 5 [396[104| 5| 20 9
MHSL3-40D | 64 | 6l 3 [385| 62| 82| 626| 30 9 |22 |475|37.5|265|165|265(235| 6 |425135| 7 | 21 9
MHSL3-50D | 77.5| 745| 3 [465| 70 | 104 | 706 | 32 9 |29 |60 |46 |36 |22 [31 |28 6 [51.3|17.7] 8 | 24 | 10
MHSL3-63D |89 |85 | 4 |51 86 | 120 | 866 | 40 | 12 |305|70 |54 |42 |26 |38 |345| 7 [585[195| 10 | 28 | 11
MHSL3-80D  [116 [111 5 |70 | 106 | 140 |106.6| 50 | 14 |37.5|80.5|60.5|485|285|475]435| 8 |785[235| 11 | 32 | 12
%S L M NA NB NC (@] P Q R SA | SB SC TA B UA UB VA VB
MHSL3-32D | 2H9"39®| 2 | 16 | 8n9. 30| 10 | 45 [M5%0.8 | 11 | 44 | 45| 8 | 8 | M4x07| 8 | M4x07 | 6 [3H9*30%| 3
MHSL3-40D | 3H9%3%°| 2 | 18 | 8n9. 30| 10 | 45 [M5%0.8 | 12 | 53 | 55 | 95| 95| M4x0.7 | 8 | M5x0.8 | 10 [4H9*0%0 | 4
MHSL3-50D | 4H9*3%0[ 2 | 20 [10n9.8gs| 12 | 5 [M5%x0.8 | 14 | 62 | 55 | 95| 95| M5x0.8 | 10 | M5x0.8 | 10 [4H9™ Q™| 4
MHSL3-63D | 6H9%3%6| 3 | 26 [12h9. 33| 14 | 55 |M5x0.8 | 17 | 76 | 6.6 |11 |17 | M5x0.8 | 10 | M6x1 12 [5H9*8%0 | 5
MHSL3-80D | 8H9"3%%| 4 | 30 [14n9. 83| 16 | 6 Rc1/8 20 | 95 |66 |11 |23 | MBx1 12 | MBx1 12 |6H9*3%0 | 6
PES WA [ wB XA | xB | Y
MHSL3-32D  |34H9*3%? 2 |3H9*3%®| 3 |6
MHSL3-40D  |42H973%? 2 | 4H9 99| 4 | 8
MHSL3-50D [52H9*3"* | 2 |4H9'3%| 4 | 7
MHSL3-63D  |65H9 3% 2.5 |5H9*3®0| 5 | 75
MHSL3-80D |82H9*3%7 3 |6H9™3™| 6 | 9
483

O

Wl
o
W2
R
W

e
e
e
WHIZ
WRHQ

291



MHSL3 series

2R+

MHSL3-100D -125D

3—¢SA CBXIESB CBZO0|SC

P.C.D.R FZ&87])

6—TA LIAIZIOITB

O{ERX|HE FFELIAL

CB CA

(AA)
AC AB
K3
§ o =]
N i <
=\ o ] & ofo = — 2
oo e} v}
SHSCR - =1
A by =] L4
QQ’ | © O {ofu aujou
¢o) \Si/ o Hi*ﬁ X
-
&/ e g i mas
NB| || M,
NA Il |l AD
BD H G
MHSL3-100D

MHSL3-125D

(mm)
5 AA [ AB [Ac |AD | BA BB |[BC [BD|CA|cB|DO|DC|EO|EC|FX|FY|Fz|[ G |H[TI|[J]K
MHSL3-100D | 135 | 129 | 6 78 1134 | 184 [134.6] 56 | 18 [44.5[ 103 | 79| 65 | 41 | 59 [ 54 | 10 | 86| 31 | 14 | 38 | 15
MHSL3-125D | 175 | 167 | 8 | 102 | 166 | 234 [166.6] 66 | 24 |54 | 132 | 100 | 80 | 48 | 74 | 68 | 12 [ 112 ]| 43 | 17 | 52 | 21
e L M | NA NB NC | O P Q | R [sA[sB|sc TA TB UA uB VA
MHSL3-100D | 8H9*3%6 | 4 | 37 |18h9 Qo3| 21 | 75| Rct/4 | 23 | 118 | 9 [14 | 31 | M8x1.25| 16 | M8x1.25| 16 | 8H9*30®
MHSL3-125D [10H9 39| 6 | 43 [22h9 §o| 25 [105] Rc3/8 | 31 [148 | 11 [17.5] 32 [M10X1.5 | 20 [M10X1.5 | 20 | 10H9*§%%®
5 VB WA [ wB XA XB
MHSL3-100D | 6 [102H9*3%7| 4 | 8H9*3%®| &
MHSL3-125D | 8 [130H9*3'®| 6 [10H9*3%®| 8
484

o
:



3z olo;xt MIHSL3 Series

MHSL3AIZ|= HESE|0|E FE 2 MR =

C) 3-A LtARZ0IB
T P.CD.C
I
/_::—?\
010
[ N 9D ZOlE
r
v /i
//
~ F ~
F
(B)
MHZ[]
T MHQ
P
s — MHL2
(E)
F-F
MHC2
MHT2
(mm) MHY2
715 A B | C |¢D | E
MHS3-16D 55 [125] 18 |05
mHss200 | o[, |6 [ets] MHW2
MHS3-25D > (s s | 7
MHS3-32D 52| 25 | 34 |08 MRHQ
MHS3-40D 27 | a7 e
MHS350D | M3x05 | 8 |35 | 44 | 1 %oFE,,-q
MHS3-63D 4 | 56 (=#A
MHS3-80D 54 | 70
MHS3-100D | m4x07 |95 | 70 | 90 | 15
MHS3-125D 80 [ 110

O
;
:



\)



0"01"* MHS4 Series

B3NS
316, 520, 925, 532, 840, 250, G653,

HAEAl

agd 43

MHS 4 —20 %— FON

B REARX| FI7|&
o H S 27| 270 2&
[ 4 [E S HES
RLEALQXR|
[E71E] 2297 A (RAUE) |
AlZID g e RLEALRIX| A
16| 16mm M| mamor |[RELAAEH ESHL0(m) |7, oo | =aa0
20 | 20mm g% 8415 L E [50s oL THEE FegmzwE] 05 |3 |5 | d24 | MevH ;H]H*Jj
25 | 25mm = =7 [ oc [ac|EEEEEE|(R12)|(L) |(2)]| (-61) T
3
= FONV | FON
(NPN) 5V 9 [ J ® O O c O
M 32
ZSWA e 2mm| _ (Sﬁp) 2 Teopv|For | @ | @|0O| o |® aqo| ©
2| T |aeme| e P - i
AL(R| FO9BV| F9B [} "YKe) 0 0)
WES) 2 12v -
sz — |F9BA| — | @|0O] O O
(XM EAl)
% 2l=M 20|7|5 : 0.5m--..-27|5 (0f]) F9B F2) W25 Bl=d F, FY Yoo -612 Z1YskA2. IMHZO
e o B (of) ool =74 SN FEE —
% OEAS| REARAE 45 e MHS4=16D~FONVS - MHZJ2
F1) 28 EA| BRI SRHO| FOIBHIAI L. eSS ——
AMESHA ARE, — p.494 LEARX] SAE EZISHAIL. QEAQX| O ZR2E )
2] 2% ASIR(0) ANE AIUS p 5718 TSN . >—rort 51 MHQ
NBIG Y7 S TR ——

PRV 2) MHS 4 —50] D —[Y50A o 2

MHR

QEALQR| £717|& MHK
A A= 2= 2 =& ——
l 2 [ VES l S 170 5 &
lEEﬁ%ﬂ
[RIIE[2EA9R els (RHAUE) | ——
Al2ic] LYZ e QEAL|X| A MHC2
- SEASF B[ = —
2 B3 K| EMZO H=3 =
32 Samm g% |s471s [pewas|aag| WY | SR Geggmas|tITENN 2L mgest |20 [y
50 | 50mm (E=) 5 Jac [BaE] FEE 1513|3050 | (-61) il |
SHNPN) Y69A |Y59A | ® @O - o)
63 63mm
wewe | 2% [vzev [Ye | @ (e O c o= o | MHY2
o 24 12v | |ve9B [v598| ® | @ [O = o I
HE
ok 804 | ome | gs AT |, b o] — ENWVIYINW @ T@TOT 55 [ &[0 MHW2
REHIAl o A9 7] |@MEA) E1XS [t i) : yiPwv| Y7rw| ® (@O PLC [ O |/——
1o |
=5 Y7BWV| Y7BW| @ | @ |O O MRHQ
e | 1oy e
=1 — |yiBa| — |@®]|O o o=
o =
EAZIE # BEM ZOI7|2 1 0.5m--- 27| (0f) Y598 STH SEAAA Zaziolol AUE wae M E Age TR
— Y 7 3m--eees L (cll) Y59BL Mad®] Best Pneumatics No.@) p.22422 EZSHIA 2.

| | [0 EREEEE L (o) Y59BZ
# ORAQ] QEALQR S £33 MarolL|Ct,
| | F1) 244 HA| EIY2 SRI0| FOSHAAIR.
MBI AR — p.494 LEAQX| SAHE AHZHAL.

| | F2) LEAQR S XMIEH AIY 2 p 5718 "* SHYAI2.

SMC 481

O



MHS4 series

HA/AIY
A MHS2-16D | MHS2-20D | MHS2-25D | MHS2-32D | MHS2-40D | MHS2-50D | MHS2-63D
A2 LhZ (mm) 16 20 25 32 40 50 63
AL S| 371
A2 22l MPa 0.2~0.6 \ 0.1~0.6
FO2E U AIRRARE T -10~60C
HHE A = mm +0.01
A ABYIE c.p.m 120 \ 60
EPS 238
AE =59
DuamrzN | HETHHE 10 19 31 55 88 140 251
k24 0.5 MPai | LiZ ohx) 2 12 21 35 61 97 153 268
HNE AER3 mm 4 4 6 8 12 16
A g 66 110 154 300 390 590 1,095
F) @16~@252 OXH™ L=20mm, @32~@63=2 TtX|™ L=30mmolAM 2| gt Ct.
2k ThX| 9| X 0 A 2| THR|2 2 [AETX 200 8 HESHIAIL.
e
=5l AEY Al AEY
' C/D
= ——7 ]
| s A | %
|
[ T N/T 1 \ [ l J |
| DN\NI74
' L ' Y
©) ® ® a
TYHEE
HS HEg Mz H| 2 e REgy N H| T
1 25 U201 B ZE Y=0po|E Az 10 | m2aE MY NBR
2 mAE o= g2 HE Y=20t0|E Az 11 zZ= iz NBR
3 24 EtAZ Az - S4F 2 12 | stam NBR
4 A Bay Ax2| - S5 13 | Jtas NBR
5 24 U201 B2 ZE Y=20po|E Hz
6 HE Zajo|E AHOIF A 2
7 0AE 2E AHQIF A 2
8 2 AtJd E SN
9 cE AHY Eay sz
weEsE
sz MHS4-16D | MHS4-20D | MHS4-25D | MHS4-32D | MHS4-40D | MHS4-50D | MHS4-63D FRPE
WAME MHS16—PS MHS20—-PS MHS25—PS MHS32-PS MHS40—-PS MHS50—PS MHS63—-PS 0 1 @ @
= A P3316004 P3346104 P3316204 P3316304 P3316404 P3316504 P3316604 @
L P3316043 P3316143 P3316243 P3316343 P3316443 P3316543 P3316643 ®
OAE Ass'y | MHS—A1601 | MHS—A2001 | MHS—A2501 | MHS—A3201 | MHS-4001 | MHS-5001 | MHS—6301 @0®
A E U, A7) T2,
488 ZS\NC



47z oloid MHS4 series

IONES!
TNES ATNES
@ 932 mX|E2 IXIFAHE| 7t AE 0K Jdef=o| 2t tHdH=z
HAZ A TpX 2 M LHOIM AFZSHY Al 2. T Vi
® 32 IX|[FHO| Mol EAIE Z0|=CH 71 oM AASEH A ]
HSEO| 7t X| = HotE0| AohstAl =0, =Fo| 4P 0[X|= ; =/ |
2iolo] B ct. ' - L ]
tl :
L] U
L L
2| B ItX| AEH LHZ IkX| AfEH
L: ItX|E A2
A S|
O E K=ol BAILY Q| ZutX|= LH B It K| =
QEZ Jfj=o| AFutX|H2 otz I o
M HE 4ol o U 2z MR 243
of Matm 9 AEfolAll WA 7o £ MHS4-16D MHS4-16D
| |
=, F2 UEPHLICH M2 OFRE 2719 15 |
EAS 1S ooz QI35 uX|stn ™~ %JGMPa 15 ™~ &Lgﬂ‘olar‘wpa
,HENE XZEY S0l A 85t B% ~— [ I~
MHS4 Al2|=o| X2, MHS2 Al2|= o ——~—]0.5Mpa S
o 27 ot — z 10 0:4MP
= — 0.4MPa i \\\
K — 0.3MP F —
= . a I
S I e S s e 2 12
————— | 0.2MPa \\\\O.ZMP&I
0 5 10 15 20 25 30 0 5 10 15 20 25 30 MHzZO
oHX[E Lmm XA Lmm —
MHS4-20D MHS4-20D —
50 i %0 l MHQ
~ 220.6MPa wﬁO.GMPa M
— ~~—00.5MP3 SR
20 &MP;: -~ 20 MHR
= =
ar T 0.4MPa i \%/'Pa
K ] T
H T 0.3MPa \\O'S,M\Pa MHK
10 22 10——y : _
—T———___|0.2MPa =l
0 10 20 30 40| 0 10 20 30 40
I A Lmm XA Lmm 7
MHC2
MHS4-25D MHS4-25D —
50 T [ MHT2
50 | I
~ 21210.6MPa 2/240.6MP e
40 A i MHY2
— ~ | 40 w
™~ 0.5MPa L 0.5MPa I
o 30—y ~ \ MHW2
I Z 30 0.4MPa
7 ~———0.4MPa i I -
& 20 — = T
= — [0.3MPa " 20 o.3vra— | [MRHQ
\ \
B — 0.2MPa ———1  |0.2MPa O
10 10 xol%|
=T
0 10 20 30 40 0 10 20 30 40
OX[™ Lmm XA Lmm

SMC 489

O



MHS4 series

AlST
Al S IpK| 2
O 4 EmX|Zo| BAUHY Q| A oX|H L kR =
QEZ Jefjzo MEutXz2, ofefId
OlM A2 472l B U 20| WE
30| Hstn U= MEfolMCl A 1749 MHS4-32D MHS4-32D
FH, F2 LIEHHLICH M2 DiF2E 274 75 1 ol
o WHZE 17He TAHOIoR QIE mtx \\ EQO.LMPa 75 uﬁO.GMP‘a
St CHE 1702 -?*|i|fé§ SOl AFE3st= 60 - | \\ 0.5MPa
HS MHS4 A2l =9 mX/22 MHS2 Al ™ 0.5MPa 60 {
|
2l=et 27 g - 45 — 0.ampall - | _0.4WPa
A o ‘
= L 0.3MPa i ——1 | 03MPa
T30 VS a0 1
2MPa — 0.2MPa
| | E—
e T
15 0.1MPaT 15 0.1MPa
0 10 20 30 40 50 0 10 20 30 40 50
X Lmm X Lmm
MHS4-40D MHS4-40D
125 % OFE; ‘
\\ 01210.6MPa 125 =0.6MPa.
™~
100 4 100 — 0.5MP4|
~—_ 0.5MPa —
’n]ZF 75 0.4MPa 1 S \\ 0.4MPa
¥ s — 0.3MPa E — 0.3MPa
— 0.2MPa —_— 0.2MP4
25 25 —
—1 0.1MPa —\\\%a
0 10 20 30 40 50 0 10 20 30 40 50
XA Lmm X E Lmm
MHS4-50D MHS4-50D
200 T T 200 — [ 1
2210.6MPa
\\\ 2/210.6MPa T~
=Y. \
150 ~ % % 150 — 0.5MPa
\\ 0.5MPa ~—
z B | —r—_0.4MPa
fr _— 0.4MPa z ey
= 100 i ir 100 =——1—0.3MPa
E —T——__ |0.3MPa r’:_ e .
0.2MPa
50 0.2MPa 50 ——22
0.1MPa 0.1‘MPa
0 20 40 60 0 20 40 60
X Lmm XA Lmm
MHS4-63D MHS4-63D
T T l l
[
- 220.6MPa T ——220.6MPa
300 —— | 300 |
| 0.5MPa [ TT—F—10.5MPa
ﬁ }
HEZF 200 \\wa—k ,ﬁ' 200 —t——— | 0.4MPa
K 0.3MPa_L| K —0.3MPa
) — 1 El B
0.2MPa 0.2MPa
100 i 100 —
0.1MPa 0.1MPa
0 20 40 60 0 20 40 60
X Lmm X Lmm

490

O
:



MHS4-16D ~ 25D

2-@3.4CB XNE 6.5

47z oloid MHS4 series

GWA 20| 1.5

CB #0l SC (}7& +3F) AA
3 AB
| @VA 20| VB
j?g
@ . e
E (I
© ol < [ _ o / H o
o =z = — N i \/ o
m 4\\ \K
< n" \ B
I} A FRRY
<> R AR
O Q § |
20°| 20° 2—M4(X_O[.7i\f%r(llrf)i
FEZ LY
(24l DO) Fz FY | Fx N
(28l Al DC)
8-M3x0.5 LIALZIO| TB CB ,.7
A FEE LA
g7 dg xE)
W |
3= Z
ma |iol
g ou
2] % MHzOI
| 4 e —
T3] - MHZJ2
F o] &8l 2 E)
) | G ( ==
2 MHQ
MHL2
REALX FHEE FHX(274) MHR
MHS4-16D MHS4-20D MHS4-25D MHK
MHC2
MHT2
MHY2
MHW2
MRHQ
QE
(mm) |AYX]
I1E A | AaB | B | cB|DC|DO|EC|EO|FRX|FY|Fz|l g | I | J | KINA NB | O P Q
MHS4-16D 35 |32 [ 30| 11|33 |37 |13 [ 17 |125[11 ]| 3 |25 ] 4 |10 [ 4 8 | 5h9 %050l 2 | M3x0.5 6
MHS4-20D 38 | 35 | 36 | 13|39 | 43| 15| 19 |145[13 | 3 |27 | 5 | 12| 5 | 10 | 6nh9 %gs0l 2.5 | M5x0.8 7
MHS4-25D 40 | 37 [ 42 ] 15|48 | 54| 20| 26| 17 [145] 5 | 28| 5 | 14| 6 | 12 [ 6h9% sl 3 | M5x0.8 8
e RA | RB [ sc]| B VA VB WA XA XB
MHS4-16D 18 | 16 | 8 5 |2H9 905 2 [17H9*):0% 2HY *-0%5| 2
MHS4-20D 24 | 18 | 9.5 ] 6 [2H9'Q9| 2 [21H9'00%] oHo 00| o
MHS4-25D 26 | 22 |10 6 |3H9'0%5] 3 [26H9*Y 0% 3H9 0| 3
491

ZS\VC



MHS4 series

2

o

A=

MHS4-32D - 40D

2—@SA CB X|& SB

CB 0l 9 (;|7&879Y)

AA

AB

@VA Z10| VB

A
— [a0]
Zl | - S :
o m J:Q\\:
< > g 1
C>C|> _8\1 '
/l
2 <= Y " &Gy
@ $
2-UA L}AFZI0| UB
o o° 7
45 | |a_ 02 EEEN
FZ | [ FY [ FX
(o= =)
B (284 DO) _ GWA Zo| 2
E5IAl DC) —
8-M40.7 LtAzi0| 8 cB.. _CA
SHE FRSUA
M5X 0.8
(HA 3 xE)
| &
g
<<
= e | F
BN | ou
A (o)}
3
- 4
y L
Y
M5X 0.8
I G (B =8 XE)
1 ™
2 1l
MHS4AIZ|= HE Z3|0|E FEE MANX|+E
3—A LtAtZI0|B
©,
79) |
2,
/<<\
e loHet o
F
7N =
A ®) S A B c oD E
] MHS4-16D 5.5 11 21 0.5
OL ] MHS4-20D 13 24
A M2X0.4| 5.4 0.6
T T S - MHS4-25D 15 57
\ MHS4-32D 5.2 18 32 0.8
c n B MHS4-40D 21 38
(E) MHS4-50D M3x0.5| 8 24 42 1
- MHS4-63D 32 54
(mm)
715 A | AB | B [ca|cB | Dc [ DO |[EC|EO| FX|FY|FZ| G| I [ L [ Na| Q |[RA|RB]| sA
MHS4-32D 44 | 41 | 56 | 8 |16 | 60 | 68 | 20 | 28 |23 [20.5] 5 [30.5] 6 | 20 [2H9'§9%% 14 | 11 [ 38 |25 | 4.5
MHS4-40D 47 | 44 | 62 | 9 |17 | 66 | 74 | 24 | 32 |26.5[23.5] 6 [32 | 7 | 21 [3H9'§%%% 16 | 12 | 44 | 28 | 5.5
b SB UA |uB [ VA VB | WA XA XB
MHS4-32D 8 M5x0.8| 10 |3H9°9%% 3 [34H9 0%[3H9 0% 3
MHS4-40D [ 95 | M6x1 | 12 [4HO'§O% 4 [42H9*§0%?4HO*§0%0 4
P
492 ZS\NC



47z oloid MHS4 series

MHS4-50D - 63D

4-@5.1 CB X & 9.5

CB Z0] SC (*}#&8+dH) AA
B RA AC |.. AB |
|
L ] @VA Z10| VB
\ / E
AY /
)4 @AO%L i
o IS . Tldlle <t T _ 2 @
AN AN M &HW_ =y L i o
y Y‘rm@ I m g
% }.J = 3
/ ~H
{ <= Y <
>
‘ 4-MBX1 LEAZIO] 12
o 1.9, (F R 2L
. (22 Al DO) _ Fz
(28IAl DC) QWA 20| WB
8—M5x0.8 LEAFZI0] 10
SRS ASSLA LB, L CA
M5X 0.8
(B g EE) MHZOI
‘ MHZJ2
ofo & ——
geo =1 MHQ
ma |iol L"—J e —
i MHL2
txp [ e
S — MHR
1 =
M5x08 MHK
I G (37 &8 XE) S
1 - T
MHC2
(mm) |NHT2
5 A | AB [ACc | B [cA [cB |DC DO |EC|EO|FX|FY[Fz| G [ 1 |J K L M | NA NB —
MHS4-50D 55 | 52 | 3 | 70| 9 |20 | 74 | 86| 26 [ 38 | 31 |28 | 6 [37.5] 9 | 24 | 10 [ 4H9"Q%] 2 | 18 [10n9 % 036 MHY2
MHS4-63D 66 | 62 | 4 [ 86 |12 [22 | 91 [107] 35 | 51 | 38 [34.5] 7 [44 [ 11 [ 28 | 11 [6H9 0% 3 | 24 [12h9 % 043
5 0| a [RA|RB]SC VA VB WA | wB XA xB | YC MHW2
MHS4-50D 5 |14 |52 | 34 | 12 [4H9'Q9%0] 4 [52H9 Q0] 2 [ 4HO Y00 4 | 7
MHS4-63D 5517 | 66 | 38 | 14 [5H90:%] 5 [65H9™0* ] 2.5 [5HO 'Y 5 [ 7.5 —
MRHQ
PE
22|

SMC 493

O



MHS series

QEAQX|OE, OIO| AR ARt 22 X7t US
LICH AQX|S /IR 2 S2| 2R OlHERE
HELERCTESIES !
| | aTsl _:
SAt
AR =X (ON)
AQ%| 22| (OFF)
MHS[J/MHSL Series MHSJ/MHSH Series
@16~@25
S SRHEICHR]) mm z SAHEHA]) mm
‘%ngm/ D —F9BAL §<‘§l—’/x/ D —F9BAL
& A
= Y | D-FOO(V) | ONgiAE HuUE | ONSIE S4ax = 7 | D-FeO(V) | onsliE BMAz | onglAE s4Es
° BNz ¥¥E 3e | asz 4EE 39 > BNz 4¥E 32 | asAz 458 39
MHSCI MHSJ3
MioLs- 16D 0.3 0.4 1.6 Miors 16D 0.3 0.3 1.3
MHS MHSJ3 _
MioL3- 200 0.3 0.4 1.6 Misrs 200 0.3 0.3 1.3
MHS[ MHSJ3
MieL3- 250 0.4 0.4 1.6 Mhisis 250 0.4 0.4 1.3
Q32~ﬂ125 MHSJ3 -32D 0.6 0.4 1.5
SHEU) MASHS ' ' '
25/\ =) = mm
| B2Eg D-Y70OW(V)| D-Y7BAL WSS -a00 0.6 0.4 1.5
~ /| D-Y -y70wW = - : : :
bES 2| Dp-v7P®™) MHSH3
MHSJ3
MHSL] 1.2 0.7 -50D 0.6 0.4 17
MHsL3™ 320 0.7 : : MHSH3
MHSOI MHSJS 63p 0.6 0.4 17
MHSL3" 40D 0.4 0.7 0.4 MHSH3
MHSJ3
MHSO -80D 0.7 0.5 1.8
MHsLa- 500 0.4 0.7 0.4 MHSH3
MHSCI
MHsL3" 63D 0.4 0.7 0.4
MHS[]
MisL 3" 80D 0.4 0.7 0.6
MHS
MHSL3-100D 0.4 0.8 0.6
MHS]
ML 3-125D 0.4 0.4 0.7

LEARIX| At

MIE{ pusher / Al2I{ Al

_ ZCHEA mm
Sy D -F9BAL
il 7= 7| p-FoO() | ongnz mumz | onenE suax
M @ ° HSNZ 48237 | HSNE 432 3%
I - B MHSH[3-32DA 05 0.3 0.8
=x MHSHLI3-40DA 0.5 0.3 0.9
MHSH[]3-50DA 0.6 0.4 1
MHSHLJ3-63DA 0.8 0.5 1
A% 223 (ON) MHSHLI3-80DA 1 0.5 1.1
£9I% SHAR| (OFF)

494

O
z



£ A9/ 0| 2H9| EHH0|N 555
S 59 JEOE Mot FHAIL,

orzfel et & U L.

EALXIME MHS series

T

LEALRXQ
0i| o = of| 2|

HEf e

E|EMo| Ao HIEoZ LR

2 0% |1
09 rx

m oot U

o
i

M oot U
0% |n
oo rx

J

I

0L |;
09 rx
D
L

O

mop

I

O

SVC

- EEREE HISER| Z A| SUEFEA
I el D—F9BAL D—FOCIV D—FOCIV
74 8.5 — —
MHS[I- 16D A T 3
7 7 — =
MHS[I- 20D a - = —
7H 5 — —
MHS[I- 25D T > ] —
74 8.5 — —
MHSL3- 16D —, ) 3 — MHZOO
MHSL3- 20D i 13 3 — MHZJ2
74 5 — — e —
MHSL3- 25D T 5 3 — MHQ
EERE e EEER ZUEHEA L —
3 D-Y690] D-Y690]
Byl D-Y7BAL D-Y7PV D-Y7PV MHL2
oflo{ % g = D-Y7OWV D-Y7OWV —
H - — —
MHSD- 32D — 5 7 — MHR
MHS[I- 40D ;H| ; : — MHK
7 — — — —
MHS[- 50D "l — 3 —
MHS[- 63D 2 — — =
) ] 5 1 —
MHSL- 80D ; HI — — — TG
2
MHSO-100D — HI = — —
7 — — — MHT2
MHS[-125D o — — — —_—
M — — — MHY2
MHSL3- 32D 5 5 7 —
- . — — — MHW2
MHSL3- 40D =l 5 7 —
H - — — —
MHSL3- 50D 5 — 3 — MRHQ
- 2 — — — EE
MHSL3- 63D 2 : . — 254
MHSL3- 80D ; HI = — —
H - — —
MHSL3-100D 2 — — —
MHSL3-125D ;1H| — — —
F1)EQHO|| £X|0| 7|2t
F2)2lEMOl H o= E0|Lt Y37t LEAQR 24 U 2|=Mo AEE Footd FY



MHS series

LQEARIX| =X EHHOIM SSE

SEAX S 0| LN SEE L ¥ ofeo Eet Z&LTE
2O 59 J|FOR Mot FHANL.
=2l imm
Ny S YA E SYUTHE
] gurs ofloi U =l D-F9O D—F9BAL D-FoV
— #EH MHSJ3 4ep A 2 11 —
] MHSH3 T 55 14.5 3
MHSJ3 ,0p A 2 11 —
n | MHSH3 H| B 14.5 3
L | MHSJ3 e A — 10 —
MHSH3 | 5 14.5 2.5
MHSJ3 A — 8.5 —
-32D
MHSH3 ] 4.5 14 1
\_F — —
2= M MHSJ3 400 7h 7.5
Zupst MHSH3 H| 3 13 1
3 SEt — —
= MHSJ3 op A 3
MHSH3 | 1.5 11.5 =
MHSJ3 oh — — —
-63D
MHSH3 63 o — 10 _
MHSJ3 7H — — —
L ’
mHsHs S0P g — 9 —
F1)320 Fol MO SEZS LEHACH B 50| 552 S,
F2)EBO| +%|7|0| gl S50UZ
FIEEMO| HHECE LI2E 22, FES0|L ATVt LEARIX| 24 L 2| EM0| EX| AEE FosHUA L.
Push holder(P) HHOA S| S&&
EALXQ push holder(P)2 HHHOIM E&5 = ¥2 ot Bt Z&LCH
AR I 50| JEOR MO FHN L.
MIE{ pusher/ AZIEA]
HHelimm
ZEeR IR ZUF 3
2=y oo ~om 89 | p_Fory D—F9BAL D-FoOV
soe A
=g MHSH[I-32DA — 4 9 !
_ B 9 14 6
A
. MHSHLI-40DA — =2 3 8 0-5
IR R 8 13 5.5
E — 2 -
MHSHLJ-50DA =
B 7.5 12 5
SE — 1.5 -
MHSHLJ-63DA =
23 7 11.5 4
B — — —
gl=M MHSHLJ-80DA =
B =4 4 9 15
FEEHY
L

496

O
z



EAQIXE TYE H20I=, 00fH O ASIX|H S Zof ofzH gt
S werolA 2otk 3 PIIXIE MY 5 ARNAS2to|HE
S50, 24 ALIXIFPLIAE AP0 FHNL

U XA A = 2F0]H

SEAQR

F)EAQX FEE LHAE MZEZE o=, 280X @5~6mmE £2
AAEEZO[HE ALESHH FHA 2.
ESH M ZTorques, 0.05~ 0.1 N-m §EE 510 THA2.
HZAZLO| AT X2 FH 90°3|MAZI D E J7|E22 2H ot

O

EALXIME MHS series

497

MHK

MHC2
T2
Y2
W2
WRHQ

E

£21%]




| = X5

=P
.I.l
X

D-Y7BAL

HEEHY
16, 20, 25, 32, 40, 50, 63, 80, 100, 125

32, 40, 50, 63, 80, 100, 125
D—-F9BAL

ries
DOF-H 2LEAY

D
DF

HLIE
L

C

—

—
=

2

Al
=

16,20,25 |
D-F9BAL

Al

2N SHALS

MHS se

MHS
MHSL
MHSH

MHS[]
MHSJ3

CiLiZ mm
g
$3 | MHSJ
= j
G mm
A

A

dl

s
8

o8
MHSHLI3 -

MHSHO3 = =
MHSL3

HERA

MHS[]

MHSJ3
MHSL3
100°C77kK

[e]]

AbQk

A

il

\)

498



